RESOLUTION NO. 2025-072



A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF FARMERS BRANCH, TEXAS, APPROVING A CONTRACT WITH J & L CONSTRUCTION, LLC FOR THE CONSTRUCTION OF THE 2025 WATER MAIN REPLACEMENT PROJECT IN AN AMOUNT NOT TO EXCEED \$3,218,551.50; AUTHORIZING ITS EXECUTION BY THE CITY MANAGER; AND PROVIDING AN EFFECTIVE DATE.

WHEREAS, the City of Farmers Branch, Texas, having sought and obtained competitive bids for the construction of the 2025 Water Main Replacement Project, along various locations within the City of Farmers Branch (the "Project"), pursuant to the quotes attached hereto as Exhibit "A"; and

WHEREAS, City Administration has determined that J & L Construction, LLC, has submitted the lowest and most qualified bid and recommends approval of the construction contract with said company for the Project; and

WHEREAS, the City Council of the City of Farmers Branch, Texas, finds it in the public interest to approve the recommendation of the City Administration.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF FARMERS BRANCH, TEXAS, THAT:

SECTION 1. The City Manager is hereby authorized to approve and execute a construction contract between the City of Farmers Branch and J & L Construction, LLC for the construction of the 2025 Water Main Replacement Project, pursuant to the quotes attached hereto as Exhibit "A", in an amount not to exceed \$3,218,551.50, and is further authorized to accept and approve such additional change orders and contract amendments as the City Manager deems reasonable, necessary, in the public interest, in compliance with applicable law and City policy, and, in the case of an increase in contract price, subject to the availability of funds.

SECTION 2. This Resolution shall become effective immediately from and after its passage.

PASSED AND APPROVED BY THE CITY COUNCIL OF THE CITY OF FARMERS BRANCH, TEXAS, THIS 17th DAY OF JUNE, 2025.

ATTEST:

APPROVED:

Erin Flores, City Secretary

Terry Lynne, Mayor

APPROVED AS TO FORM:

Whitt Wyatt, City Attorney [vf 05.13.2025]

2025 Water Main Replacement

| | 2025 Water Main Replacement | | | | | | | 2R Construc | tion | Jeske Cons | truction | SYB Constr | ruction | S-Co Incorpo | orated | Excel 4 Cons | truction. |
|----------|---|----------|----------|---------------------------|-----------------------------|----------------------------|-----------------------------|---------------------------|-----------------------------|----------------------------|---------------------------|----------------------------|----------------------------|--|----------------------------|----------------------------|-----------------------------|
| Loi | igemeade Dr: Rawhide Pkwy to Webb Chapel Rd | | (I-a) | J & L Cons | struction LLC | Aushill Con | | Services | | Company | | Company, I | | | | LLC | , |
| lten | | Unit | <u></u> | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 1 | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. CONCRETE PAVEMENT ALONG DITCHLINE & REPLACE WITH 8" THICK REINFORCED CONCRETE PAVEMENT, INCLUDING REINFORCED CURB, IF ANY | 185 | SY | \$137.82 | \$25,496.70 | \$140.00 | \$25,900.00 | \$192.00 | \$35,520.00 | \$190.00 | \$35,150.00 | \$125.00 | \$23,125.00 | \$182.00 | \$33,670.00 | \$188.00 | \$34,780.00 |
| 2 | PAVEMENT INCLUDING CURB, & REPLACE WITH NEW 6" THICK REINFORCED CONCRETE, INCLUDING REINFORCED CONCRETE CURB, IF ANY, WITH 2" THICK TYPE D HMAC, PER DETAILS | 710 | SY | \$82.73 | \$58,738.30 | \$140.00 | \$99,400.00 | \$202.00 | \$143,420.00 | \$215.00 | \$152,650.00 | \$135.00 | \$95,850.00 | \$184.00 | \$130,640.00 | \$189.00 | \$134,190.00 |
| 3 | ADDITIONAL 2" THICK TYPE D HMAC PER DETIALS, AS NEEDED | 75 | SY | \$180.05 | \$13,503.75 | \$25.00 | \$1,875.00 | \$35.00 | \$2,625.00 | \$50.00 | \$3,750.00 | \$30.00 | \$2,250.00 | \$47.00 | \$3,525.00 | \$32.00 | \$2,400.00 |
| 4 | CONSTRUCT TEMPORTY 4" TYPE D ASPHALT PAVING ACROSS LONGMEADE DR AS | 100 | SY | \$77.24 | \$7,724.00 | \$50.00 | \$5,000.00 | \$45.00 | \$4,500.00 | \$35.00 | \$3,500.00 | \$48.00 | \$4,800.00 | \$67.00 | \$6,700.00 | \$81.00 | \$8,100.00 |
| 5 | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. FULL DEPTH ASPHALT PAVEMENT & REPLACE WITH 6" THICK REINFORCED CONCRETE WITH 2" THICK TYPE D HMAC, FOR SERVICES LINES, IF USED | 50 | SY | \$306.82 | \$15,341.00 | \$140.00 | \$7,000.00 | \$171.00 | \$8,550.00 | \$225.00 | \$11,250.00 | \$135.00 | \$6,750.00 | \$175.00 | \$8,750.00 | \$131.00 | \$6,550.00 |
| 6 | ABANDON EXISTING 6"-8" VALVES | 7 | EA | \$726.29 | \$5,084.03 | \$750.00 | \$5,250.00 | \$400.00 | \$2,800.00 | \$390.00 | \$2,730.00 | \$750.00 | \$5,250.00 | \$650.00 | \$4,550.00 | \$315.00 | \$2,205.00 |
| 7 | CUT & PLUG EXIST. WATER LINE FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT, INCLUDING WATER MAIN LOWERING (IF ANY), PLUGS, CONNECTIONS, BENDS, ALL OTHER FITTINGS, EMBEDMENT, BACKFILL, AND ALL OTHER APURTENANCES | 9 | EA LF | \$2,413.78 \$121.97 | \$21,724.02 \$179,295.90 | \$1,850.00 \$90.00 | \$16,650.00 \$132,300.00 | \$1,300.00 \$110.75 | \$11,700.00 \$162,802.50 | \$500.00 \$96.00 | \$4,500.00 | \$1,000.00 \$122.00 | \$9,000.00 \$179,340.00 |) \$661.00 \$100.00 | \$5,949.00 \$147,000.00 | \$3,700.00 \$105.00 | \$33,300.00 \$154,350.00 |
| 8 9 | FURNISH & INSTALL 8" PVC BY BORE UNDER BRIDGE, INCLUDING 16" STEEL ENCASEMENT, PLUGS, CONNECTIONS, BENDS, ALL OTHER FITTINGS, EMBEDMENT, BACKFILL, AND ALL OTHER APPURTENANCES | 60 | LF | \$121.97 | \$49,570.20 | \$90.00 | \$132,300.00 | \$110.75 | \$162,802.50 | \$96.00 | \$30,240.00 | \$122.00 | \$179,340.00 |) \$100.00) \$234.00 | \$147,000.00 | \$105.00 | \$154,350.00 |
| 10 | CONNECTION TO EXIST. 8" A.C. WATER MAINS INCLUDING ALL FITTINGS, AND ALL OTHER APPURTENANCES AT RAWHIDE PKWY CONNECTION TO EXIST. 12" A.C. WATER MAINS INCLUDING ALL FITTINGS, AND ALL OTHER | 1 | LS | \$5,584.00 | \$5,584.00 | \$5,500.00 | \$5,500.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$3,350.00 | \$3,350.00 | \$6,570.00 | \$6,570.00 | \$6,500.00 | \$6,500.00 |
| 11 | APPURTENANCES AT RAWHIDE PKWY CONNECTION TO EXIST. 8" A.C. WATER MAINS INCLUDING ALL FITTINGS, AND ALL OTHER | 1 | LS | \$15,304.00 | \$15,304.00 | \$6,500.00 | \$6,500.00 | \$7,100.00 | \$7,100.00 | \$3,920.00 | \$3,920.00 | \$8,950.00 | \$8,950.00 | \$11,875.00 | \$11,875.00 | \$8,600.00 | \$8,600.00 |
| 12 13 | CONNECTION TO EXIST. 6" C.I. WATER MAINS INCLUDING ALL FITTINGS, AND ALL OTHER | 2 | LS LS | \$5,498.50 \$8.141.00 | \$10,997.00 \$8.141.00 | \$4,000.00 | \$8,000.00 | \$3,650.00 | \$7,300.00 | \$2,240.00 \$2.240.00 | \$4,480.00 | \$4,225.00 | \$8,450.00 | \$6,387.00 | \$12,774.00 | \$6,500.00 | \$13,000.00 |
| 13 | CONNECTION TO EXIST. 8" C.I. WATER MAINS INCLUDING ALL FITTINGS, AND ALL OTHER APPURTENANCES AT ONXY LN | 1 | LS | \$7,991.00 | \$8,141.00 | \$3,750.00 \$4,000.00 | \$3,750.00 | \$3,800.00 \$3,650.00 | \$3,800.00 \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,425.00 \$4,225.00 | \$4,425.00 | , ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | \$5,100.00 \$6,400.00 | \$6,500.00 \$6,500.00 | \$6,500.00 \$6,500.00 |
| 15 16 | CONNECTION TO EXIST. 8" PVC WATER MAINS INCLUDING ALL FITTINGS, AND ALL OTHER APPURTENANCES AT WEBB CHAPEL RD FURNISH & INSTALL 8" GATE VALVE INCLUDING ALL APPURTENANCES | 1 11 | LS EA | \$7,991.00 \$1.345.82 | \$7,991.00 \$14,804.02 | \$4,000.00 \$2,500.00 | \$4,000.00 \$27,500.00 | \$3,650.00 \$2,760.00 | \$3,650.00 \$30,360.00 | \$1,680.00 \$3.500.00 | \$1,680.00 \$38,500.00 | \$4,225.00 \$3,000.00 | \$4,225.00 \$33,000.00 | \$6,400.00 \$4,500.00 | \$6,400.00 \$49,500.00 | \$6,400.00 \$3,200.00 | \$6,400.00 \$35,200.00 |
| 17 | FURNISH & INSTALL 6" GATE VALVE INCLUDING ALL APPURTENANCES | 2 | EA | \$2.838.50 | \$5.677.00 | \$1.800.00 | \$3.600.00 | \$1.911.00 | \$3.822.00 | \$2,400.00 | \$4,800.00 | \$2.000.00 | \$4.000.00 | \$3.336.00 | \$6.672.00 | \$2,400.00 | \$4.800.00 |
| 18 | FURNISH & INSTALL NEW FIRE HYDRANT INCLUDING 6" PVC FH LEADS, CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, AND ALL OTHER APPURTENANCES | 2 | EA | \$8,598.50 | \$17,197.00 | \$6,600.00 | \$13,200.00 | \$5,305.00 | \$10,610.00 | \$9,500.00 | \$19,000.00 | \$9,100.00 | \$18,200.00 | \$9,582.00 | \$19,164.00 | \$9,200.00 | \$18,400.00 |
| 19 20 | FURNISH & INSTALL 1" TYPE "K" COPPER WATER SERVICE (LONG) & NEW WATER METER BOX, INCLUDING CONNECTION TO EXIST 3/4" AMI METER PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (LONG), IF ELECTED | 10 10 | EA EA | \$4,355.70 \$267.70 | \$43,557.00 \$2,677.00 | \$2,250.00 \$780.00 | \$22,500.00 \$7,800.00 | \$2,650.00 \$1,500.00 | \$26,500.00 \$15,000.00 | \$1,740.00 \$340.00 | \$17,400.00 \$3,400.00 | \$3,850.00 \$1.00 | \$38,500.00 \$10.00 |) \$3,963.00 \$1,340.00 | \$39,630.00 \$13,400.00 | \$3,100.00 \$900.00 | \$31,000.00 \$9,000.00 |
| 21 | FURNISH & INSTALL 1" TYPE "K" COPPER WATER SERVICE (SHORT) & NEW WATER METER BOX, INCLUDING CONNECTION TO EXIST 3/4" AMI METER PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (SHORT), IF ELECTED | 10 10 | EA | \$3,213.40 \$267.70 | \$32,134.00 \$2,677.00 | \$1,850.00 | \$18,500.00 \$4,000.00 | \$2,250.00 | \$22,500.00 | \$1,624.00 \$170.00 | \$16,240.00 \$1,700.00 | \$2,300.00 | \$23,000.00 \$10.00 | \$2,890.00 | \$28,900.00 | \$1,950.00 | \$19,500.00 |
| 22 23 | FURNISH & INSTALL 1" AIR RELEASE VALVE | 10 | EA EA | \$267.70 \$7,584.00 | \$2,677.00 \$7,584.00 | \$400.00 \$4.750.00 | \$4,000.00 | \$1,000.00 \$4.550.00 | \$10,000.00 \$4.550.00 | \$170.00 | \$1,700.00 | \$1.00 \$8.400.00 | \$10.00 |) \$675.00) \$4,225.00 | \$6,750.00 \$4,225.00 | \$450.00 \$9.400.00 | \$4,500.00 \$9.400.00 |
| 23 | TRAFFIC CONTROL PLAN & IMPLEMENTATION | 1 | LS | \$4,427.00 | \$7,584.00 | \$4,750.00 | \$20,000.00 | \$4,550.00 | \$4,550.00 | \$3,920.00 | \$3,920.00 | \$8,400.00 | \$8,400.00 |) \$4,225.00 \$2,580.00 | \$4,225.00 | \$9,400.00 | \$9,400.00 |
| 24 | TRENCH SAFETY DESIGN & IMPLEMENTATION | 1,530 | LS | \$4,427.00 | \$918.00 | \$20,000.00 | \$20,000.00 | \$3,000.00 | \$3,825.00 | \$6.00 | \$9.180.00 | \$23,000.00 | \$1,530.00 |) \$2,580.00 \$1.20 | \$2,580.00 | \$8,400.00 | \$1,530.00 |
| 26 | EROSION CONTROL PLANS & IMPLEMENTATION | 1 | LS | \$15,904.00 | \$15,904.00 | \$2,500.00 | \$2,500.00 | \$3,800.00 | \$3,800.00 | \$1,650.00 | \$1,650.00 | \$3,000.00 | \$3,000.00 | \$2,700.00 | \$2,700.00 | \$7,000.00 | \$7,000.00 |
| 27 | FUNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL PROVIDE CONSTRUCTION MATERIAL TESTING, AS APPROVED BY THE CITY ENGINEER | 50 | SY | \$58.74 | \$2,937.00 | \$14.00 | \$700.00 | \$20.00 | \$1,000.00 | \$15.00 | \$750.00 | \$12.00 | \$600.00 | \$82.00 | \$4,100.00 | \$47.00 | \$2,350.00 |
| 28 29 | (REFER TO SPECIAL CONDITIONALS ITEM #49) UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48) | 1 | LS LS | \$5,310.01 \$40.000.00 | \$5,310.01 \$40,000.00 | \$10,000.00 \$40.000.00 | \$10,000.00 | \$7,550.00 \$40.000.00 | \$7,550.00 \$40.000.00 | \$15,800.00 \$40.000.00 | \$15,800.00 | \$10,710.00 \$40.000.00 | \$10,710.00 | \$7,900.00 \$40.000.00 | \$7,900.00 \$40.000.00 | \$12,000.00 \$40.000.00 | \$12,000.00 \$40,000.00 |
| 23 | | | | ÷10,000.00 | . , | φ+0,000.00 | . , | ÷, | , ,, | \$10,000.00 | . , | φ - 0,000.00 | . , | +, | , | φ+0,000.00 | |
| | Total Amount Base-Bid of Longemeade Dr Water Main Replacement: | | | | \$628,288.93 | | \$542,235.00 | | \$626,084.50 | | \$578,250.00 | | \$649,950.00 | | \$631,300.00 | | \$667,975.00 |

| | | | | | | | | 2R Constru | ction | Jeske Const | ruction | SYB Constr | uction | S-Co Incorp | orated | Excel 4 Const | ruction, |
|----|--|-------|---------|---------------------------|--------------------|----------------|------------------------|------------|-------------|-----------------|------------------------|-------------|--------------------|-------------|-------------|---------------|-------------|
| V | Vood Manor Cir: Farmers Branch Ln to 12311 Wood Manor Cir. | (l-b) | | J & L Cons | truction LLC | Aushill Consti | ruction, LLC | Services | | Company | | Company, li | nc | | | LLC | |
| It | em Description | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXISTING CONCRETE PAVEMENT & REPLACE WITH NEW 6" THICK REINFORCED CONCRETE PAVEMENT, INCLUDING REINFORCED CURB, | 100 | ev | * 4 4 0 T 0 | * 47 054 00 | | * 4 4 4 9 9 9 9 | | | * 100.00 | * • • • • • • • | | * 40,000,00 | | | | |
| | 1 PER DETAILS FULL DEPTH SAWCUT, REMOVE & DISPOSE EXISTING CONCRETE AND/OR ASPHALT PAVEMENT & REPLACE WITH NEW 6" THICK REINFORCED CONCRETE, INCLUDING | 120 | SY | \$148.76 | \$17,851.20 | \$120.00 | \$14,400.00 | \$171.00 | \$20,520.00 | \$180.00 | \$21,600.00 | \$110.00 | \$13,200.00 | \$154.00 | \$18,480.00 | \$145.00 | \$17,400.00 |
| | 2 REINFORCED CONCRETE CURB, IF ANY, WITH 2" THICK TYPE D HMAC, PER DETAILS ICONSTRUCT TEMPORARY 4" TYPE D ASPHALT PAVING ACROSS FARMERS BRANCH LN AS | 30 | SY | \$229.77 | \$6,893.10 | \$140.00 | \$4,200.00 | \$202.00 | \$6,060.00 | \$215.00 | \$6,450.00 | \$135.00 | \$4,050.00 | \$184.00 | \$5,520.00 | \$190.00 | \$5,700.00 |
| | 3 NEEDED | 30 | SY | \$117.23 | \$3,516.90 | \$50.00 | \$1,500.00 | \$45.00 | \$1,350.00 | \$35.00 | \$1,050.00 | \$48.00 | \$1,440.00 | \$67.00 | \$2,010.00 | \$81.00 | \$2,430.00 |
| | 4 ADDITIONAL 2" THICK TYPE D HMAC, PER DETAILS AS NEEDED | 10 | SY | \$171.40 | \$1,714.00 | \$25.00 | \$250.00 | \$35.00 | \$350.00 | \$50.00 | \$500.00 | \$35.00 | \$350.00 | \$47.00 | \$470.00 | \$32.00 | \$320.00 |

BID NO.: 25-12 Bid Opens: 4/21/2025 10:00a.m.

| IFULL DEPTH SAWCUT, REMOVED & DISPOSE EXIST, CONCRETE PAVEMENT & REPLACE | - | 1 | - | | | | | 1 | F | | | | - | 1 | | 1 |
|---|-----|----|--------------|-------------|--------------|-------------|--------------|-------------|--------------|-------------|--------------|-------------|------------------------------|-----------------|--------------|-------------|
| 5 WITH 6" THICK REINFORCED CONCRETE, FOR SERVICE LINES, IF USED | 30 | SY | \$124.00 | \$3,720.00 | \$120.00 | \$3,600.00 | \$140.00 | \$4,200.00 | \$185.00 | \$5,550.00 | \$110.00 | \$3,300.00 | \$155.00 | \$4,650.00 | \$135.00 | \$4,050.00 |
| 6 ABANDON EXISTING 6"-8" VALVES | 1 | EA | \$511.00 | \$511.00 | \$750.00 | \$750.00 | \$400.00 | \$400.00 | \$390.00 | \$390.00 | \$750.00 | \$750.00 | \$645.00 | \$645.00 | \$1,200.00 | \$1,200.00 |
| 7 CUT & PLUG EXIST. WATER LINE | 1 | EA | \$2.977.00 | \$2,977.00 | \$1.920.00 | \$1,920.00 | \$1,300.00 | \$1,300.00 | \$500.00 | \$500.00 | \$1,500.00 | \$1,500.00 | \$696.00 | \$696.00 | \$3.600.00 | \$3,600.00 |
| FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT. INCLUDING WATER MAIN | | | . , | . , | ¢1,020.00 | . , | \$ 1,000100 | \$ 1,000.00 | | | \$ 1,000.00 | . , | <i><i><i><i></i></i></i></i> | \$000.00 | \$0,000.00 | \$0,000.00 |
| LOWERING (IF ANY), CONNECTIONS, BENDS, ALL OTHER FITTINGS, EMBEDMENT, | | | | | | | | | | | | | | | | |
| 8 BACKFILL, & ALL OTHER APPURTENANCES | 260 | LF | \$61.57 | \$16,008.20 | \$96.00 | \$24,960.00 | \$107.00 | \$27.820.00 | \$96.00 | \$24,960.00 | \$117.00 | \$30,420.00 | \$85.00 | \$22,100.00 | \$100.00 | \$26,000.00 |
| CONNECTIONS TO EXIST. 16" RCCP WATER MAIN INCLUDING ALL FITTINGS. & ALL OTHER | _ | | | . , | ¢00.00 | . , | ¢.01.00 | \$21,020100 | | . , | ¢11100 | . , | \$00.00 | <i> </i> | ¢.00.00 | \$20,000.00 |
| 9 APPURTENANCES AT FARMERS BRANCH LN | 1 | LS | \$11,096.00 | \$11,096.00 | \$20,000.00 | \$20,000.00 | \$12,000.00 | \$12,000.00 | \$16,800.00 | \$16,800.00 | \$15,000.00 | \$15,000.00 | \$10.000.00 | \$10,000.00 | \$19,000.00 | \$19,000.00 |
| 10 FURNISH & INSTALL 6" GATE VALVE, INCLUDING ALL APPURTENANCES | 2 | EA | \$2,538.00 | \$5,076.00 | \$1,800.00 | \$3,600.00 | \$1,911.00 | \$3,822.00 | \$2,350.00 | \$4,700.00 | \$2,000.00 | \$4,000.00 | \$3,336.00 | \$6,672.00 | \$2,400.00 | \$4,800.00 |
| 11 FURNISH & INSTALL 8" GATE VALVE, INCLUDING ALL APPURTENANCES | 1 | EA | \$3,354.00 | \$3,354.00 | \$2,500.00 | \$2,500.00 | \$2,700.00 | \$2,700.00 | \$3,480.00 | \$3,480.00 | \$2,900.00 | \$2,900.00 | \$4,425.00 | \$4,425.00 | \$3,200.00 | \$3,200.00 |
| FURNISH & INSTALL NEW FIRE HYDRANT INCLUDING 6" FH LEADS, CONNECTIONS, | | | | | ,, | | . , | , , | | | . , | | . , | · / · · · · | , | ()) |
| 12 FITTINGS, EMBEDMENT, BACKFILL, & ALL OTHER APPURTENANCES | 2 | EA | \$6,292.00 | \$12,584.00 | \$6,000.00 | \$12,000.00 | \$5,305.00 | \$10,610.00 | \$9,520.00 | \$19,040.00 | \$7,925.00 | \$15,850.00 | \$8,116.00 | \$16,232.00 | \$9,100.00 | \$18,200.00 |
| FURNISH & INSTALL 1" TYPE "K" COPPER WATER SERVICE (LONG) & NEW WATER METER | | | | | | | . , | . , | | | | | | . , | . , | . , |
| 13 BOX, INCLUDING CONNECTION TO EXIST 3/4" AMI METER | 4 | EA | \$4,576.00 | \$18,304.00 | \$2,500.00 | \$10,000.00 | \$2,850.00 | \$11,400.00 | \$1,740.00 | \$6,960.00 | \$4,100.00 | \$16,400.00 | \$4,127.00 | \$16,508.00 | \$3,100.00 | \$12,400.00 |
| 14 PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (LONG), IF ELECTED | 4 | EA | \$669.25 | \$2,677.00 | \$1,100.00 | \$4,400.00 | \$1,500.00 | \$6,000.00 | \$340.00 | \$1,360.00 | \$1.00 | \$4.00 | \$1,340.00 | \$5,360.00 | \$900.00 | \$3,600.00 |
| FURNISH & INSTALL 1" TYPE "K" COPPER WATER SERVICE (SHORT) & NEW WATER METER | 2 | | | | | | | | | | | | | | | |
| 15 BOX, INCLUDING CONNECTION TO EXIST 3/4" AMI METER | 2 | EA | \$4,042.00 | \$8,084.00 | \$2,150.00 | \$4,300.00 | \$2,800.00 | \$5,600.00 | \$1,624.00 | \$3,248.00 | \$2,300.00 | \$4,600.00 | \$3,468.00 | \$6,936.00 | \$1,950.00 | \$3,900.00 |
| 16 TRAFFIC CONTROL PLAN & IMPLEMENTATION | 1 | LS | \$3,427.00 | \$3,427.00 | \$20,000.00 | \$20,000.00 | \$1,850.00 | \$1,850.00 | \$1,980.00 | \$1,980.00 | \$25,000.00 | \$25,000.00 | \$2,580.00 | \$2,580.00 | \$8,400.00 | \$8,400.00 |
| 17 TRENCH SAFETY DESIGN & IMPLEMENTATION | 260 | LF | \$9.37 | \$2,436.20 | \$2.00 | \$520.00 | \$2.50 | \$650.00 | \$6.00 | \$1,560.00 | \$1.00 | \$260.00 | \$1.20 | \$312.00 | \$1.00 | \$260.00 |
| 18 EROSION CONTROL PLANS & IMPLEMENTATION | 1 | LS | \$3,456.00 | \$3,456.00 | \$2,500.00 | \$2,500.00 | \$650.00 | \$650.00 | \$1,650.00 | \$1,650.00 | \$3,000.00 | \$3,000.00 | \$2,700.00 | \$2,700.00 | \$9,100.00 | \$9,100.00 |
| 19 FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | 25 | SY | \$56.36 | \$1,409.00 | \$14.00 | \$350.00 | \$20.00 | \$500.00 | \$15.00 | \$375.00 | \$12.00 | \$300.00 | \$82.00 | \$2,050.00 | \$47.00 | \$1,175.00 |
| PROVIDE CONSTRUCTION METERIAL TESTING, AS APPROVED BY THE CITY ENGINEER | | | | | | | | | | | | | | | | |
| 20 (REFER TO SPECIAL CONDITIONS ITEM #49) | 1 | LS | \$5,354.00 | \$5,354.00 | \$10,000.00 | \$10,000.00 | \$1,300.00 | \$1,300.00 | \$4,000.00 | \$4,000.00 | \$1,820.00 | \$1,820.00 | \$7,900.00 | \$7,900.00 | \$12,000.00 | \$12,000.00 |
| UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER | | | | | | | | | | | | | | | | |
| 21 (REFER TO SPECIAL CONDITIONS ITEM (#48) | 1 | LS | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 |
| Total Amount Base-Bid for Wood Manor Cir Water Main Replacement: | | | \$140,448.60 | | \$151,750.00 | | \$129,082.00 | | \$136,153.00 | | \$154,144.00 | | \$146,246.00 | | \$166,735.00 | |

| Provedent ALORG UTLEMEN & HERAL BUNCHELD CARGENET Processes Processes <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th>2R Constru</th> <th>ction</th> <th>Jeske Const</th> <th>truction</th> <th>SYB Constr</th> <th>ruction</th> <th>S-Co Incorp</th> <th>orated</th> <th>Excel 4 Cons</th> <th>struction,</th> | | | | | | | | | 2R Constru | ction | Jeske Const | truction | SYB Constr | ruction | S-Co Incorp | orated | Excel 4 Cons | struction, |
|---|------|---|-------|---------|--------------------|--------------|-------------------|----------------|------------------|------------------|-------------|--------------|------------------|--------------------|--------------|-------------------|-----------------------|--------------------------|
| PARAMENT ACONCUTORENE & REPLACE WITH THE YF THOL REPORT CREATE WITH REP YF THOL REPORT CREATE WITH REPORT REPORT CREATE WITH REPORT REPOR | Ford | l Rd: Farmers Branch Ln to Leta Mae Ln | (l-c) | | J & L Constr | uction LLC | Aushill Cons | struction, LLC | Services | | Company | | Company, I | nc | | | LLC | |
| Image: Product Nuclear Data Service Concerter Cus. F. Arv., Will 2" Hick Type 1 3 2 9 | ltem | Description | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| I How PROVE PERFAUST Status Status< | | | | | | | | | | | | | | | | | | |
| Function End of the structure 10000000000000000000000000000 | | | | | | | | | | | | | | | | | | |
| Difference Difference State | | | 340 | SY | \$85.77 | \$29,161.80 | \$140.00 | \$47,600.00 | \$202.00 | \$68,680.00 | \$215.00 | \$73,100.00 | \$135.00 | \$45,900.00 | 0 \$184.00 | \$62,560.00 | \$189.00 | \$64,260.00 |
| 3 | | | | | | | | | | | | | | | | | | |
| 1 CONSTRUCT TEMPORARY 4*TYPE DARPHALT PAVING ACROSS FORD RD AS NEEDED 50 SY 7: 52 S37000 \$52,0000 \$22,0000 \$34,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$27,0000 \$54,000 \$51,000,00 \$51,000,00 \$51,000,00 \$51,000,00 \$51,000,00 \$50,000 \$51,000,00 \$50,000 \$51,000,00 \$50,000 \$51,000,00 \$50,000 \$51,000,00 | 2 | REINFORCED CURB, IF ANY | 55 | SY | \$83.20 | \$4,576.00 | \$140.00 | \$7,700.00 | \$192.00 | \$10,560.00 | \$190.00 | \$10,450.00 | \$125.00 | \$6,875.00 | \$230.00 | \$12,650.00 | \$188.00 | \$10,340.00 |
| I CONSTRUCT TEMPORARY 4 TYPE D ASHACT FAVING ACROSS FORD RD AS NEEDED 50 SY 77 52 S37600 \$42,0000 \$22,2000 \$31,7000 \$44,00 \$51,7000 \$44,00 \$51,7000 \$44,00 \$51,7000 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$50,000.00 \$51,000.00 \$51,000.00 \$50,000.00 \$51,000.00 \$50,000.00 \$51,000.00 \$50,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,000.00 \$51,00 | 3 | ADDITIONAL 2" THICK TYPE D HMAC PER DETAILS, AS NEEDED | 35 | SY | \$83.31 | \$2,915.85 | \$25.00 | \$875.00 | \$35.00 | \$1,225,00 | \$50.00 | \$1,750.00 | \$30.00 | \$1,050.00 | 547.00 | . , | \$32.00 | \$1,120.00 |
| 5 Constraint 5 EA Still 325 Constraint Still St | 4 | CONSTRUCT TEMPORARY 4" TYPE D ASPHALT PAVING ACROSS FORD RD AS NEEDED | 50 | SY | \$77.52 | \$3,876.00 | | \$2,500.00 | | () | \$35.00 | \$1,750.00 | | \$2,400.00 | | , ,: : : : | | \$4,050.00 |
| 6 CUT & PLUG EXIST. WATER LINE BY OPEN CUT INCLUDING WATER MAIN LOWERINGS, CONNECTIONS, ALL OTHER FITTINGS, EMBEMENT, BACKFILL, & ALL OTHER TAPPURTENANCES AT DAMARCE MAIN INCLUDING ALL FITTINGS & ALL OTHER 6 EA \$666.03 \$1,300.00 \$1,300.00 \$1,300.00 \$3,000.00 | 5 | ABANDON EXISTING 6"-8" VALVES | 5 | EA | \$511.40 | \$2,557.00 | | \$3,750.00 | | . , | \$390.00 | \$1,950.00 | | \$3,750.00 | | . , | | \$4,500.00 |
| FURNISH & INSTALL © C-000 PVC WATER LINE BY OPEN CUT INCLUDING WATER MAIN LOWERINGS, CONNECTIONS, LLOTHER MAIN INCLUDING ALL OTHER SC, CONNECTIONS TO EXSIT. © C. WATER MAIN INCLUDING ALL FITTINGS, SALE OTHER CONNECTION TO EXSIT. © C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER A PPURTENANCES 570 LF \$341.07 \$194.922.00 \$\$51.300.00 \$\$16.00 \$\$66,120.00 \$\$22,400.00 \$\$128.00 \$\$72,960.00 \$\$10.00 \$\$60,990.00 \$\$110.00 \$\$60,990.00 \$\$110.00 \$\$60,990.00 \$\$110.00 \$\$60,990.00 \$\$110.00 \$\$60,120.00 \$\$22,400.00 \$\$22,400.00 \$\$22,400.00 \$\$7,150.00 \$\$7,150.00 \$\$7,370.00 \$\$6,000.00 | 6 | CUT & PLUG EXIST. WATER LINE | 6 | EA | \$699.33 | \$4,195.98 | 1 | \$10,800.00 | 1 1 1 1 1 | . , | \$500.00 | | | \$6,000.00 | 1.1.1.1.1 | . , | | \$21,600.00 |
| CONNECTIONS TO EXIST. 9° CLI WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER Inc. Status Connections Connections <thc< td=""><td></td><td></td><td></td><td></td><td></td><td>. ,</td><td>\$ 1,000.00</td><td>. ,</td><td>÷ 1,000100</td><td><i></i>,</td><td></td><td>. ,</td><td>¢ 1,000100</td><td>. ,</td><td></td><td>\$0,000.00</td><td><i><i><i></i></i></i></td><td><i>421,000.00</i></td></thc<> | | | | | | . , | \$ 1,000.00 | . , | ÷ 1,000100 | <i></i> , | | . , | ¢ 1,000100 | . , | | \$0,000.00 | <i><i><i></i></i></i> | <i>421,000.00</i> |
| 6 APPURTENANCES AT FARMERS BRANCH LN 1 LS \$3,37.00 \$3,37.00 \$4,000.00 \$5,500.00 \$2,240.00 \$2,240.00 \$7,150.00 \$7,37.00 \$7,37.00 \$6,500.00 \$6,500.00 CONNECTION TO EXIST. PVC WATER MAN INCLUDING ALL FITTINGS & ALL OTHER 1 LS \$4,751.00 \$2,750.00 \$3,650.00 \$2,240.00 \$2,240.00 \$4,225.00 \$6,400.00 \$6,600.00 | 7 | APPURTENANCES | 570 | LF | \$341.97 | \$194,922.90 | \$90.00 | \$51,300.00 | \$116.00 | \$66.120.00 | \$92.00 | \$52,440.00 | \$128.00 | \$72,960.00 | \$107.00 | \$60.990.00 | \$110.00 | \$62,700.00 |
| CONNECTION TO EXIST # PVC WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER 1 LS \$4,781.00 \$2,750.00 \$2,750.00 \$2,240.00 \$2,240.00 \$4,225.00 \$4,425.00 \$6,400.00 \$6,60 | | | 1 | 10 | ¢2 927 00 | ¢2 927 00 | | \$4,000,00 | | , | \$2.240.00 | 00.010.02 | | ¢7 150 00 | | ,, | | |
| 9 APPURTENANCES AT DANNY LN CONNECTION TO EXIST. & A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER 1 LS \$4,781.00 \$2,750.00 \$2,750.00 \$3,860.00 \$2,240.00 \$4,225.00 \$4,225.00 \$6,400.00 <td></td> <td></td> <td>I</td> <td>L3</td> <td>\$3,637.00</td> <td>\$3,037.00</td> <td>\$4,000.00</td> <td>\$4,000.00</td> <td>\$5,500.00</td> <td>\$5,500.00</td> <td>\$2,240.00</td> <td>φZ,240.00</td> <td>\$7,150.00</td> <td>\$7,150.00</td> <td>5 \$7,370.00</td> <td>\$7,370.00</td> <td>\$6,500.00</td> <td>\$6,500.00</td> | | | I | L3 | \$3,637.00 | \$3,037.00 | \$4,000.00 | \$4,000.00 | \$5,500.00 | \$5,500.00 | \$2,240.00 | φZ,240.00 | \$7,150.00 | \$7,150.00 | 5 \$7,370.00 | \$7,370.00 | \$6,500.00 | \$6,500.00 |
| CONNECTION TO EXIST. 8" A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER 1 LS \$3,638.00 \$3,750.00 \$3,650.00 \$2,240.00 \$4,225.00 \$4,225.00 \$6,400.00 \$6,600.00 \$6 | | | 1 | 10 | ¢4 791 00 | ¢4 791 00 | #0 7 50 00 | ¢2 750 00 | #0.050.00 | #0.050.00 | \$2.240.00 | 00.010.02 | #4 005 00 | ¢4 225 00 | | \$0,400,00 | #0.400.00 | \$0,400,00 |
| 10 APPURTENANCES AT DANNY LN 1 LS \$3,638.00 \$3,750.00 \$3,650.00 \$2,240.00 \$4,225.00 \$4,225.00 \$6,400.00 \$6,6 | | | 1 | L3 | \$4,701.00 | φ4,701.00 | \$2,750.00 | φ2,750.00 | \$3,650.00 | \$3,650.00 | φ2,240.00 | φ2,240.00 | \$4,225.00 | φ4,225.00 | 5 \$6,400.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 |
| CONNECTION TO EXIST. B* PVC WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER Connection To EXIST. B* PVC WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER Connection To EXIST. B* PVC WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER Solution | | | 1 | 10 | \$2,629,00 | ¢2 629 00 | #0 7 50 00 | ¢2 750 00 | #0.050.00 | #0.050.00 | \$2.240.00 | 00.010.02 | #4 005 00 | ¢4 225 00 | | \$0,400,00 | #0 500 00 | \$0,500,00 |
| 11 APPURTENANCES AT LETA MAE LN 1 LS \$3,257.00 \$3,257.00 \$2,260.00 \$3,650.00 \$2,240.00 \$2,240.00 \$4,225.00 \$4,225.00 \$6,400.00 \$6,600.00 \$6,600.00 \$6,600.00 \$6,600.00 \$6,200.00 \$2,240.00 \$2,240.00 \$2,240.00 \$4,225.00 \$4,225.00 \$6,400.00 \$6,600.00 \$2,240.00 | | | 1 | L3 | \$3,030.00 | \$3,030.00 | \$3,750.00 | φ3,750.00 | \$3,650.00 | \$3,650.00 | φ2,240.00 | φ2,240.00 | \$4,225.00 | φ4,225.00 | 5 \$6,400.00 | \$6,400.00 | \$6,500.00 | \$6,500.00 |
| CONNECTION TO EXIST. 8" AC. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER Connection To EXIST. 8" AC. WATER MAN INCLUDING ALL FITTINGS & ALL OTHER Connection To EXIST. 8" AC. WATER MARE IN Connection State VALVE State Connextere Connextere Connection State VALVE State Co | | | 1 | 10 | \$2.257.00 | \$2.257.00 | #0.050.00 | ¢2 650 00 | #0.050.00 | #0.050.00 | \$2.240.00 | 00.010.02 | #4 005 00 | ¢4 225 00 | | \$0,400,00 | #0 500 00 | \$0,500,00 |
| 12 APURTENANCES AT LETA MAE LN 1 LS \$3,738.00 \$3,738.00 \$3,850.00 \$3,850.00 \$2,240.00 \$4,225.00 \$4,225.00 \$6,400.00 \$6,600.00 \$6,600.00 \$6,600.00 \$6,600.00 \$6,600.00 \$6,600.00 \$6,600.00 \$6,600.00 \$6,600.00 \$6,600.00 \$2,240.00 \$2,200.00 \$2,200.00 \$2,200.00 \$2,200.00 \$2,200.00 \$2,200.00 | | | 1 | | \$3,237.00 | \$5,257.00 | \$2,650.00 | ψ2,050.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | ψ2,240.00 | \$4,225.00 | ψ4,223.00 | \$6,400.00 | \$6,400.00 | \$6,500.00 | \$6,500.00 |
| 13 FURNISH & INSTALL 6" GATE VALVE 1 EA \$2,854.00 \$1,800.00 \$1,800.00 \$1,911.00 \$2,360.00 \$2,000.00 | | | 1 | 19 | \$3 738 00 | \$3 738 00 | ¢0.050.00 | ¢3 850 00 | ¢2.050.00 | ¢2.050.00 | \$2.240.00 | \$2,240,00 | ¢4.005.00 | \$4 225 0 | n | ¢C 400 00 | ¢0,500,000 | |
| 14 FURNISH & INSTALL 8" GATE VALVE 8 EA \$2,736.13 \$21,889.04 \$2,500.00 \$20,000.00 \$2,710.00 \$21,680.00 \$22,784.00 \$3,000.00 \$24,400.00 \$4,450.00 \$3,200.00 \$2,200.00 \$2,200.00 \$2,710.00 \$21,680.00 \$2,710.00 \$21,680.00 \$2,710.00 \$21,680.00 \$3,480.00 \$22,784.00 \$3,000.00 \$24,400.00 \$3,200.00 \$2,000.00 \$2,000.00 \$2,710.00 \$21,680.00 \$3,480.00 \$22,784.00 \$3,000.00 \$24,400.00 \$3,200.00 \$2,000.00 <td></td> <td></td> <td>1</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>1 -)</td> <td></td> <td></td> <td></td> <td></td> <td>φο, ισοισο</td> <td></td> <td>, . ,</td> <td>\$6,500.00 \$2,400.00</td> | | | 1 | | | | | | | 1 -) | | | | | φο, ισοισο | | , . , | \$6,500.00 \$2,400.00 |
| FURNISH & INSTALL NEW FIRE HYDRANT INCLUDING 6" FIRE HYDRANT LEADS, Connections, FITTINGS, EMBEDMENT, BACKFILL, & ALL OTHER APPURTENANCES 1 EA \$9,084.00 \$6,500.00 \$5,350.00 \$5,350.00 \$9,520.00 \$8,450.00 \$8,450.00 \$8,450.00 \$8,138.00 \$8,138.00 \$9,200.00 \$9, | | | Q I | | • , | . , | | | <i></i> | . , | | | | | | . , | | \$2,400.00 |
| 15 CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, & ALL OTHER APPURTENANCES 1 EA \$9,084.00 \$6,500.00 \$6,500.00 \$5,350.00 \$9,200.00 \$8,450.00 \$8,460.00 \$8,460.00 \$8,400.00 \$8,400.00 \$8,400.00 \$8,400.00 \$8,400.00 \$8,400.00 \$8,100.00 \$8,100.00 \$8,100.00 \$8,100.00 \$8,100.00 \$8 | | | 0 | | φ2,730.13 | φz1,009.04 | \$2,500.00 | \$20,000.00 | \$2,710.00 | \$21,000.00 | \$3,400.00 | φ27,040.00 | \$3,000.00 | φ24,000.00 | 5 \$4,450.00 | \$35,600.00 | \$3,200.00 | \$25,600.00 |
| 16 TRAFFIC CONTROL PLAN & IMPLEMENTATION 1 LS \$3,326.00 \$20,000.00 \$20,000.00 \$1,850.00 \$22,600.00 \$22,500.00 \$22,700.00 \$22,700.00 \$2,500.00 \$22,700.00 \$2,000.0 | | | 1 | ΕΔ | 00 180 02 | 00 180 02 | ¢6 500 00 | \$6 500 00 | \$5 250 00 | ¢5 250 00 | \$9.520.00 | \$0,520,00 | ¢0 450 00 | \$8 450 00 | ¢0 120 00 | ¢0 120 00 | \$0.200.00 | \$9.200.00 |
| 17 TRENCH SAFETY DESIGN & IMPLEMENTATION 570 LF \$2.16 \$1,231.20 \$2.00 \$1,400.00 \$1.00 \$570.00 \$1.00 \$1.00 \$570.00 \$570.00 | | | 1 | | | | | | | 1-) | | | | | <i>+-,</i> | . , | | \$9,200.00 |
| 17 RROSION CONTROL PLAN & IMPLEMENTATION 1 LS \$2,033.00 \$2,033.00 \$2,033.00 \$2,033.00 \$2,033.00 \$2,033.00 \$2,003.00 \$2,700.00 \$1,650.00 \$3,000.00 \$2,700.00 \$2,700.00 \$7,100.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 | | | 570 | | | | • • • • • • • • | | • , | . , | | | , | | , , | . , | | . , |
| 19 FUNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL 25 SY \$78.80 \$1.970.00 \$300.00 \$375.00 \$12.00 \$300.00 \$82.00 \$47.00 \$1.00 19 FUNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL 25 SY \$78.80 \$1.970.00 \$14.00 \$350.00 \$15.00 \$300.00 \$82.00 \$2,050.00 \$1.00 <td></td> <td></td> <td>1</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>. ,</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$570.00 \$7,100.00</td> | | | 1 | | | | | | | . , | | | | | | | | \$570.00 \$7,100.00 |
| PROVIDE CONSTRUCTION MATERIAL TESTING, AS APPROVED BY THE CITY ENGINEER 1 LS \$5,233.00 \$10,000.00 \$2,810.00 \$2,810.00 \$3,990.00 \$3,990.00 \$3,990.00 \$12,000.00 \$12,000.00 \$12,000.00 \$2,810.00 \$2,000.00 \$2,000.00 \$2,000.00 \$20,0 | | | 25 | | | | | | , , | . , | | | | | , , | . , | , , | . , |
| 20 (REFER TO SPECIAL CONDITIONS ITEM #49) 1 LS \$5,233.00 \$10,000.00 \$2,810.00 \$7,000.00 \$3,990.00 \$3,990.00 \$7,900.00 \$12,000.00 | | | 25 | 51 | φ/0.00 | φ1,970.00 | \$14.00 | φ550.00 | \$20.00 | \$00.00¢ | φ13.00 | φ373.00 | , \$12.00 | φ500.00 | | \$2,050.00 | \$47.00 | \$1,175.00 |
| UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER 1 LS \$20,000.00 | | | 1 | 19 | \$5 233 00 | \$5 232 00 | ¢10,000,00 | \$10,000,00 | ¢0.010.00 | ¢0.040.00 | \$7,000,00 | \$7 000 00 | ¢2 000 00 | \$3 000 0 | ez 000 00 | ¢7 000 00 | ¢12.000.00 | \$12,000.00 |
| 21 (REFER TO SPECIAL CONDITIONS ITEM #48) 1 LS \$20,000.00 | · · | | 1 | | <i>\$</i> 5,255.00 | φJ,233.00 | \$10,000.00 | φ10,000.00 | \$2,810.00 | \$Z,810.00 | φ1,000.00 | φ1,000.00 | , \$3,990.00 | φ 3, 990.00 | \$7,900.00 | \$7,900.00 | \$12,000.00 | \$12,000.00 |
| Total Amount Page Bid for Ford Pd Water Main Poplacement: | | | 1 | LS | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 |
| | | Total Amount Base-Bid for Ford Rd Water Main Replacement: | | • | | \$329.076.77 | | \$223.815.00 | | \$235.661.00 | | \$230.425.00 | | \$250.295.00 | | \$264.344.00 | l ' | \$287.415.00 |

| Ville Greek Dry 2775 Ville Greed to Josev L.n. | (A .D | | | | Austrill | (| 2R Construc | tion | Jeske Const | | SYB Constr | | S-Co Incorpo | rated | Excel 4 Cons | struction, |
|---|--------------|---------|---------------------|-------------------|---------------------------|-------------------|--------------------------|---|-------------|--|-------------------------|-----------------|---------------|--------------------|--------------------------|--------------------------|
| Villa Creek Dr: 2775 Villa Creed to Josey Ln | <u>(1-d)</u> | | | truction LLC | | struction, LLC | | | Company | | Company, I | | | | LLC | |
| Item Description | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. CONCRETE AND/OR ASPHALT | | | | | | | | | | | | | | | | |
| PAVEMENT & CONSTRUCT 8" THICK REINFORECED CONRETE PAVEMENT WITH 2" THICK | | | | | | | | | | | | | | | | |
| 1 TYPE D HMAC PER DETAILS | 500 | SY | \$113.59 | \$56,795.00 | \$160.00 | \$80,000.00 | \$192.00 | \$96,000.00 | \$225.00 | \$112,500.00 | \$150.00 | \$75,000.0 | 0 \$210.00 | \$105,000.00 | \$210.00 | \$105,000.00 |
| FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. CONCRETE AND/OR ASPHALT | 0.5 | SY | ¢00.44 | ¢7.040.00 | | ¢40.000.00 | | | ¢100.00 | ¢40.050.00 | | ¢44.075.0 | | | | |
| 2 PAVEMENT & CONSTRUCT 8" THICK REINFORCED CONCRETE PAVEMENT PER DETAILS | 95 | ST | \$80.14 | \$7,613.30 | \$140.00 | \$13,300.00 | \$161.00 | \$15,295.00 | \$190.00 | \$18,050.00 | \$125.00 | \$11,875.0 | 0 \$182.00 | \$17,290.00 | \$188.00 | \$17,860.00 |
| CONCRETE SIDEWALK & REPLACE 4" THICK REINFORCED CONCRETE SIDEWALK, PER 3 DETAILS | 5 | SY | \$304.20 | \$1,521.00 | \$85.00 | \$425.00 | \$117.00 | # 505.00 | \$130.00 | \$650.00 | \$100.00 | \$500.0 | | \$650.00 | # 05 00 | \$475.00 |
| 4 CONSTRUCT TEMPORARY 4" TYPE D ASPHALT PAVING ACROSS JOSEY LN AS NEEDED | 50 | SY | \$304.20 \$70.30 | \$3,515.00 | \$85.00 | \$425.00 | \$117.00 \$45.00 | \$585.00 \$2,250.00 | \$130.00 | \$1,750.00 | \$100.00 \$48.00 | \$300.0 | \$100.00 | \$650.00 | \$95.00 \$94.00 | \$475.00 \$4.700.00 |
| 5 ADDITIONAL 2" THICK TYPE D HMAC PER DETAILS AS NEEDED | 50 | SY | \$58.30 | \$3,515.00 | \$25.00 | \$2,500.00 | \$45.00 \$35.00 | \$2,250.00 | \$50.00 | \$2,500.00 | 548.00 \$30.00 | \$2,400.0 | <i>+•••••</i> | 1 -) | \$94.00 | , , |
| FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. FULL DEPTH ASPHALT PAVEMENT & | | - 31 | \$J0.30 | φ2,913.00 | \$25.00 | φ1,230.00 | \$35.00 | \$1,750.00 | \$30.00 | φ2,500.00 | \$30.00 | φ1,500.0 | \$47.00 | \$2,350.00 | \$33.00 | \$1,650.00 |
| REPLACE WITH 8" THICK REINFORCED CONCRETE WITH 2" THICK TYPE D HMAC, FOR | | | | | | | | | | | | | | | | |
| 6 SERVICE LINES, IF USED | 25 | SY | \$159.00 | \$3,975.00 | \$160.00 | \$4,000.00 | \$192.00 | \$4.800.00 | \$230.00 | \$5,750.00 | \$150.00 | \$3,750.0 | \$210.00 | \$5,250.00 | \$210.00 | \$5.250.00 |
| FUNISH & INSTALL 12" C-900 PVC WATER MAIN BY OPEN CUT, INCLUDING WATER MAIN | - 20 | | ¢100.00 | \$0,010.00 | \$100.00 | \$1,000.00 | \$192.00 | \$4,000.00 | , \$200.00 | \$0,700.00 | φ130.00 | \$0,100.0 | \$210.00 | ψ3,230.00 | \$210.00 | \$3,230.00 |
| LOWERING (IF ANY), CONNECTIONS, PLUGS, BENDS, ALL OTHER FITTINGS, EMBEDMENT, | | | | | | | | | | | | | | | | |
| 7 BACKFILL, & ALL OTHER APPURTENANCES | 1,000 | LF | \$137.00 | \$137,000.00 | \$150.00 | \$150,000.00 | \$191.45 | \$191,450.00 | \$192.00 | \$192,000.00 | \$187.00 | \$187,000.0 | 0 \$145.00 | \$145,000.00 | \$159.00 | \$159,000.00 |
| 8 ABANDON EXISTING 6"-12" VALVES | 7 | EA | \$507.71 | \$3,553.97 | \$750.00 | \$5,250.00 | \$500.00 | \$3,500.00 | \$390.00 | \$2,730.00 | \$750.00 | \$5,250.0 | | \$4,515.00 | \$1,200.00 | \$8,400.00 |
| 9 CUT & PLUG EXIST. WATER LINE | 3 | EA | \$1,306.00 | \$3,918.00 | \$2,000.00 | \$6,000.00 | \$1,800.00 | \$5,400.00 | \$500.00 | \$1,500.00 | \$1,000.00 | \$3,000.0 | | \$2,100.00 | \$3,500.00 | \$10,500.00 |
| CONNECTIONS TO EXIST. 12" A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | . , | | , , | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | | . , | | , | , , | | , |
| 10 APPURTENANCES AT 2775 VILLA CREEK DR | 1 | LS | \$3,437.00 | \$3,437.00 | \$5,000.00 | \$5,000.00 | \$5,100.00 | \$5,100.00 | \$3,920.00 | \$3,920.00 | \$6,600.00 | \$6,600.0 | \$9,800.00 | \$9,800.00 | \$6,900.00 | \$6,900.00 |
| CONNECTIONS TO EXIST. 12" A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | | | | | | | | | | |
| 11 APPURTENANCES AT JOSEY LN | 1 | LS | \$3,437.00 | \$3,437.00 | \$5,000.00 | \$5,000.00 | \$5,100.00 | \$5,100.00 | | \$3,920.00 | \$12,000.00 | \$12,000.0 | 0 \$9,800.00 | \$9,800.00 | \$6,900.00 | \$6,900.00 |
| 12 FURNISH & INSTALL 6" GATE VALVE | 5 | EA | \$2,376.20 | \$11,881.00 | \$1,800.00 | \$9,000.00 | \$1,911.00 | \$9,555.00 | \$2,350.00 | \$11,750.00 | \$2,000.00 | \$10,000.0 | 0 \$3,336.00 | \$16,680.00 | \$2,400.00 | \$12,000.00 |
| 13 FURNISH & INSTALL 12' GATE VALVE | 8 | EA | \$1,311.38 | \$10,491.04 | \$4,800.00 | \$38,400.00 | \$5,150.00 | \$41,200.00 | \$3,480.00 | \$27,840.00 | \$5,400.00 | \$43,200.0 | 0 \$7,200.00 | \$57,600.00 | \$5,300.00 | \$42,400.00 |
| FURNISH & INSTALL NEW FIRE HYDRANT INCLUDING 6" FIRE HYDRANT LEADS, | | | | | | | | | | | | | | | | |
| 14 CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, & ALL OTHER APPURTENANCES | 5 | EA | \$4,896.40 | \$24,482.00 | \$6,500.00 | \$32,500.00 | \$5,300.00 | \$26,500.00 | \$9,520.00 | \$47,600.00 | \$9,225.00 | \$46,125.0 | 0 \$9,579.00 | \$47,895.00 | \$9,200.00 | \$46,000.00 |
| FURNISH & INSTALL 2" TYPE "K" COPPER WATER SERVICE (SHORT) & NEW WATER METER | | | • · • • • | | | | Γ | | | • • • • • • • • • • • • • • • • • • | | | | | | |
| 15 BOX (INCLUDIN NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 2" AMI METER | 3 | EA | \$4,775.00 | \$14,325.00 | \$5,000.00 | \$15,000.00 | \$4,800.00 | \$14,400.00 | \$5,040.00 | \$15,120.00 | \$5,000.00 | \$15,000.0 | \$0,200.00 | \$15,600.00 | \$4,600.00 | \$13,800.00 |
| 16 PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (SHORT), IF ELECTED | 3 | EA | \$892.33 | \$2,676.99 | \$1,000.00 | \$3,000.00 | \$1,000.00 | \$3,000.00 | \$500.00 | \$1,500.00 | \$1.00 | \$3.0 | 0 \$675.00 | \$2,025.00 | \$500.00 | \$1,500.00 |
| BOX (INCLUDING NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 2" AMI | | | #0.040.00 | *0 0 40 00 | | * 5 500 00 | | | AF 400.00 | \$5 400 00 | | *7 000 0 | | | | |
| | 1 | EA | \$8,640.00 | \$8,640.00 | \$5,500.00 | \$5,500.00 | \$5,800.00 | \$5,800.00 | \$5,400.00 | \$5,400.00 | \$7,000.00 | \$7,000.0 | 0 \$6,277.00 | \$6,277.00 | \$6,300.00 | \$6,300.00 |
| BOX (INCLUDING NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 3/4" OR 1" 18 AMI METER | 2 | EA | \$4.162.50 | \$8,325.00 | ¢2,000,00 | \$6.000.00 | ¢0.075.00 | ¢0,550,00 | \$1,736.00 | \$3,472.00 | ¢4.450.00 | \$8,300.0 | 0 \$4.386.00 | \$8,772.00 | ¢0.400.00 | ¢C 000 00 |
| 19 PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (LONG), IF ELECTED | 2 | EA | \$892.33 | \$2,676.99 | \$3,000.00 | \$4,500.00 | \$3,275.00 \$1.900.00 | \$6,550.00 | \$340.00 | \$1,020.00 | \$4,150.00 | \$8,300.0 | 1 / | \$8,772.00 | \$3,100.00 | \$6,200.00 |
| 20 TRAFFIC CONTROL PLAN & IMPLEMENTATION | 1 | | \$2,965.00 | \$2,965.00 | \$1,500.00 \$20,000.00 | \$20,000.00 | \$1,900.00 | \$5,700.00 \$4,950.00 | \$3,260.00 | \$3,260.00 |) \$1.00 \$25.000.00 | \$25,000.0 | <i> </i> | \$4,020.00 | \$1,100.00 \$6,500.00 | \$3,300.00 \$6,500.00 |
| 21 TRENCH SAFETY DESIGN & IMPLEMENTATION | 1.000 | | \$1.35 | \$1,350.00 | \$20,000.00 | \$2,000.00 | \$4,950.00 | \$4,950.00 | \$6.00 | \$6,000.00 | 525,000.00 \$1.00 | \$1,000.0 | , | \$2,580.00 | \$0,500.00 | \$0,500.00 |
| 22 EROSION CONTROL PLAN & IMPLEMENTATION | 1,000 | LS | \$3,214.00 | \$3,214.00 | \$2.500.00 | \$2,500.00 | \$2.500.00 | \$4,000.00 | \$1,650.00 | \$1,650.00 | \$1.00 | \$3,000.0 | | \$1,200.00 | \$9,100.00 | \$9,100.00 |
| 23 FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | 25 | SY | \$49.92 | \$1,248.00 | \$2,500.00 | \$350.00 | \$2,500.00 | \$2,500.00 | \$15.00 | \$375.00 | \$3,000.00 \$12.00 | \$300.0 | , , | \$2,700.00 | \$9,100.00 | \$9,100.00 |
| PROVIDE CONSTRUCTION MATERIAL TESTING. AS APPROVED BY THE CITY ENGINEER | <u> </u> | | \$10.02 | ψ1,210.00 | φ14.00 | ¥000.00 | φ20.00 | φυυυ.υυ | | <i>40,0.00</i> | φ12.00 | \$500.0 | - φ02.00 | φ2,050.00 | φ47.00 | φ1,175.00 |
| 24 (REFER TO SPECIAL CONDITIONS ITEM #49) | 1 | LS | \$5,113.00 | \$5,113.00 | \$10.000.00 | \$10,000.00 | \$5.000.00 | \$5.000.00 | \$11,700.00 | \$11,700.00 | \$7.000.00 | \$7,000.0 | \$7.900.00 | \$7.900.00 | \$12.000.00 | \$12.000.00 |
| UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER | - | + | | <i>+-</i> ,0100 | φ10,000.00 | +, | <i>\\</i> 0,000.00 | ψ0,000.00 | | ÷ · ·,· 50100 | φ <i>1</i> ,000.00 | ÷:,:0010 | φ1,000.00 | ψι,500.00 | \$12,000.00 | ψ12,000.00 |
| 25 (REFER TO SPECIAL CONDITIONS ITEM #48) | 1 | LS | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.0 | 0 \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 |
| Total Amount Base-Bid for Villa Creek Water Main Replacement: | | · | | \$355.068.29 | | \$451,475.00 | | \$490.885.00 | | \$511.957.00 | | \$504.806.00 | | \$510.404.00 | ľ | \$517,910.00 |
| | | | | +300,000.20 | | ÷ 101, 11 0100 | | + 100,000100 | | <i>~~</i> , <i>~</i> | | ,, | | <i>4010,10 100</i> | | ÷••••••••• |

| | | | | | | | | 2R Construc | tion | Jeske Const | truction | SYB Constr | ruction | S-Co Incorp | orated | Excel 4 Const | truction, |
|------|--|-------|---------|-------------------------|------------------------------|--------------|---|-------------|--------------|--------------------|-----------------------------------|------------|------------------------|----------------------|--------------|---------------|--------------|
| Val | ley View Ln: Webb Chapel Rd to Belfield Dr | (1-d) | | J & L Const | ruction LLC | Aushill Cons | truction, LLC | Services | | Company | | Company, I | nc | - | | LLC | |
| Item | | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. CONCRETE AND/OR ASPHALT | | | | | | | | | | | | | | | | |
| | PAVEMENT & CONSTRUCT 8" THICK REINFORCED CONCRETE PAVEMENT WITH 2" THICK | | | A 105 00 | * 4 4 7 000 40 | | * 170 000 00 | | | * 225.00 | *~~~ ~~ ~~ | | * 4 0 0 0 0 0 0 | | | | |
| 1 | | 1,120 | SY | \$105.02 | \$117,622.40 | \$160.00 | \$179,200.00 | \$192.00 | \$215,040.00 | \$225.00 | \$252,000.00 | \$150.00 | \$168,000.00 | \$210.00 | \$235,200.00 | \$188.00 | \$210,560.00 |
| | CONCRETE SIDEWALK & REPLACE 4" THICK REINFORCED CONCRETE SIDEWALK, PER | | | 000 70 | * *** | | * ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ | | | * 4 0 0 0 0 | * 4 * ** * * | | * 4 * ** | | | | |
| | DETAILS | 10 | SY | \$99.70 | \$997.00 | \$85.00 | \$850.00 | \$120.00 | \$1,200.00 | \$130.00 | \$1,300.00 | \$100.00 | \$1,000.00 | * • • • • • • | \$1,300.00 | \$94.00 | \$940.00 |
| | | 500 | SY | \$49.08 | \$24,540.00 | \$50.00 | \$25,000.00 | \$45.00 | \$22,500.00 | \$35.00 | \$17,500.00 | \$48.00 | \$24,000.00 | \$67.00 | \$33,500.00 | \$81.00 | \$40,500.00 |
| | ADDITIONAL 2" THICK TYPE D HMAC PER DETAILS AS NEEDED | 110 | SY | \$83.37 | \$9,170.70 | \$25.00 | \$2,750.00 | \$35.00 | \$3,850.00 | \$50.00 | \$5,500.00 | \$30.00 | \$3,300.00 | \$47.00 | \$5,170.00 | \$33.00 | \$3,630.00 |
| | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. FULL DEPTH ASPHALT PAVEMENT & | | | | | | | | | | | | | | | | |
| | REPLACE WITH 8" THICK REINFORCED CONCRETE PAVEMENT WITH 2" THICK TYPE D | - | | A 44 T AA | A7 000 00 | | * •••••• | | | *** | * 4 4 9 5 9 9 9 | | A7 500 00 | | | | |
| 5 | | 50 | SY | \$147.32 | \$7,366.00 | \$160.00 | \$8,000.00 | \$192.00 | \$9,600.00 | \$225.00 | \$11,250.00 | \$150.00 | \$7,500.00 | \$210.00 | \$10,500.00 | \$164.00 | \$8,200.00 |
| | FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT, INCLUDING WATER MAIN | | | | | | | | | | | | | | | | |
| | LOWERING (IF ANY), CONNECTIONS, PLUGS, BENDS, ALL OTHER FITTINGS, EMBEDMENT, | | | A | | | | | | | | | | | | | |
| ll v | BACKFILL, & ALL OTHER APPURTENANCES | 1,800 | LF | \$111.51 | \$200,718.00 | | \$198,000.00 | \$109.85 | \$197,730.00 | \$152.00 | \$273,600.00 | \$129.00 | \$232,200.00 | , | \$232,200.00 | \$110.00 | \$198,000.00 |
| | ABANDON EXISTING 6"-8" VALVES | 10 | EA | \$267.70 | \$2,677.00 | \$750.00 | \$7,500.00 | \$400.00 | \$4,000.00 | \$390.00 | \$3,900.00 | \$750.00 | \$7,500.00 | \$645.00 | \$6,450.00 | \$1,100.00 | \$11,000.00 |
| 8 | CUT & PLUG EXIST. WATER LINE | 14 | EA | \$1,064.07 | \$14,896.98 | \$2,000.00 | \$28,000.00 | \$1,300.00 | \$18,200.00 | \$500.00 | \$7,000.00 | \$1,000.00 | \$14,000.00 | \$359.00 | \$5,026.00 | \$3,700.00 | \$51,800.00 |
| | ALL CONNECTIONS TO EXIST. 8" PVC WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | | | | | | | | | | |
| 9 | APPURTANCES AT 3105 VALLEY VIEW LN | 1 | LS | \$2,233.00 | \$2,233.00 | \$4,000.00 | \$4,000.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$565.00 | \$565.00 | \$6,400.00 | \$6,400.00 |
| | CONNECTIONS TO EXIST. 8" A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | | | | | | | | | | |
| 10 | APPURTENANCES AT 3119 VALLEY VIEW LN | 1 | LS | \$2,715.00 | \$2,715.00 | \$4,500.00 | \$4,500.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$6,400.00 | \$6,400.00 | \$6,500.00 | \$6,500.00 |
| | CONNECTIONS TO EXIST. 8" A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | | | | | | | | | | |
| 11 | APPURTENANCES AT MOUNT CASTLE DR | 1 | LS | \$2,715.00 | \$2,715.00 | \$4,500.00 | \$4,500.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$6,400.00 | \$6,400.00 | \$6,500.00 | \$6,500.00 |
| | CONNECTIONS TO EXIST. 8" A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | | | | | | | | | | |
| 12 | APPURTENANCES AT CHALLABURTON DR | 1 | LS | \$2,715.00 | \$2,715.00 | \$4,500.00 | \$4,500.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 |

| Total Amount Base-Bid for Valley View Ln Water Main Replacement: | | | \$604,779.00 | | \$723,300.00 | | \$702,084.00 | | \$828,795.00 | | \$733,388.00 | | \$829,882.00 | | \$810,405.00 | |
|---|-------|----|--------------|------------------|--------------|-------------|-------------------|--------------------|--------------|---------------------|--------------|----------------------------------|------------------|--------------------|----------------------|--------------------|
| 29 (REFER TO SPECIAL CONDITIONS ITEM #48) | 1 | LS | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 | \$40,000.00 |
| UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER | | | | | . , | | . , | , | | | | | | . , | . , | . , |
| 28 (REFER TO SPECIAL CONDITIONS ITEM #49) | 1 | LS | \$5,113.00 | \$5,113.00 | \$10,000.00 | \$10,000.00 | \$8,900.00 | \$8,900.00 | \$18,600.00 | \$18,600.00 | \$12,600.00 | \$12,600.00 | \$7,900.00 | \$7,900.00 | \$12,000.00 | \$12,000.00 |
| PROVIDE CONSTRUCTION MATERIAL TESTING, AS APPROVED BY THE CITY ENGINEER | - | | | , | \$14.00 | | \$20.00 | φ000.00 | | | \$12.00 | | \$02.00 | <i>\$</i> 2,000.00 | φ+1.00 | φ1,170.00 |
| 27 FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | 25 | SY | \$54.72 | \$1,368.00 | \$14.00 | \$350.00 | \$20.00 | \$500.00 | \$15.00 | \$375.00 | \$12.00 | \$300.00 | \$82.00 | \$2,050.00 | \$47.00 | \$1,175.00 |
| 26 EROSION CONTROL PLAN & IMPLEMENTATION | 1 | LS | \$3,123.00 | \$3,123.00 | \$2,500.00 | \$2,500.00 | \$4,500.00 | \$4,500.00 | \$1,650.00 | \$1,650.00 | \$3,000.00 | \$3,000.00 | \$2,700.00 | \$2,700.00 | \$7.100.00 | \$7,100.00 |
| 25 TRENCH SAFETY DESIGN & IMPLEMENTATION | 1,800 | LF | \$0.69 | \$1,242.00 | \$2.00 | \$3,600.00 | \$2.50 | \$4,500.00 | \$6.00 | \$10,800.00 | \$1.00 | \$1,800.00 | \$1.20 | \$2,160.00 | \$1.00 | \$1,800.00 |
| 24 TRAFFIC CONTROL PLAN & IMPLEMENTATION | 1 | LS | \$13,319.00 | \$13,319.00 | \$40.000.00 | \$40,000.00 | \$5,550.00 | \$5,550.00 | \$15,800.00 | \$15,800.00 | \$25,000.00 | \$25,000.00 | \$2,580.00 | \$2,580.00 | \$6,500.00 | \$6,500.00 |
| 23 PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (LONG), IF ELECTED | 12 | EA | \$223.08 | \$2,676.96 | \$1,100.00 | \$13,200.00 | \$1.500.00 | \$18,000.00 | \$340.00 | \$4,080.00 | \$1.00 | \$12.00 | \$1.340.00 | \$16,080.00 | \$900.00 | \$10,800.00 |
| 22 AMI METER | 12 | EA | \$3,429.17 | \$41,150.04 | \$2,500.00 | \$30,000.00 | \$2,400.00 | \$28,800.00 | \$1,740.00 | \$20,880.00 | \$3,850.00 | \$46,200.00 | \$3,637.00 | \$43,644.00 | \$3,100.00 | \$37,200.00 |
| BOX (INCLUDING NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 3/4" OR 1" | 1 | LA | φ2,077.00 | ψ2,077.00 | \$900.00 | \$900.00 | φ1,000.00 | φ1,000.00 | ψ00.00 | \$340.00 | \$1.00 | φ1.00 | φ075.00 | \$075.00 | φ 4 50.00 | \$450.00 |
| 20 PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (SHORT), IF ELECTED | 1 | EA | \$2,677.00 | \$2,677.00 | \$2,250.00 | \$900.00 | \$2,300.00 | \$2,300.00 | \$340.00 | \$340.00 | \$2,400.00 | φ2, 4 00.00 \$1.00 | \$2,970.00 | \$2,970.00 | \$450.00 | \$1,950.00 |
| 20 AMI METER | 1 | EA | \$3,276.00 | \$3,276.00 | \$2,250.00 | \$2,250.00 | \$2,300.00 | \$2,300.00 | \$1,620.00 | \$1,620.00 | \$2,400.00 | \$2,400.00 | \$2.970.00 | \$2,970.00 | \$1,950.00 | \$1,950.00 |
| BOX (INCLUDING NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 3/4" OR 1" | 4 | EA | \$7,120.75 | \$20,507.00 | \$7,000.00 | \$20,000.00 | \$5,305.00 | \$21,220.00 | \$9,520.00 | \$ 30,060.00 | \$9,500.00 | \$30,000.00 | \$9,216.00 | \$36,864.00 | \$9,100.00 | \$36,400.00 |
| FURNISH & INSTALL NEW FIRE HYDRANT INCLUDING 6" FIRE HYDRANT LEADS, 19 CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, & ALL OTHER APPURTENANCES | 4 | EA | \$7,126.75 | \$28,507.00 | A7 000 00 | \$28,000.00 | * 5 005 00 | * 04 000 00 | \$9,520.00 | \$38,080.00 | #0 500 00 | \$38,000.00 | #0.040.00 | 000 004 00 | *• • • • • | # 00,400,00 |
| 18 FURNISH & INSTALL 6" GATE VALVE | 4 | EA | \$2,104.50 | \$8,418.00 | \$1,800.00 | \$7,200.00 | \$1,911.00 | \$7,644.00 | \$2,350.00 | \$9,400.00 | \$2,000.00 | \$8,000.00 | \$3,336.00 | \$13,344.00 | \$2,400.00 | \$9,600.00 |
| 17 FURNISH & INSTALL 8" GATE VALVE | 18 | EA | \$2,572.44 | \$46,303.92 | \$2,500.00 | \$45,000.00 | \$2,750.00 | \$49,500.00 | \$3,480.00 | \$62,640.00 | \$3,000.00 | \$54,000.00 | \$4,478.00 | \$80,604.00 | \$3,200.00 | \$57,600.00 |
| 16 APPURTENACNES AT BELFIELD DR | 1 | LS | \$2,955.00 | \$2,955.00 | \$4,500.00 | \$4,500.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$6,400.00 | \$6,400.00 | \$6,500.00 | \$6,500.00 |
| CONNECTIONS TO EXIST 8" A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | AO 055 00 | Γ | A 4 500 40 | Γ | | | AO O (C C) | Γ | * 1 007 00 | Γ | | [| |
| 15 APPURTENACNES AT BELFIELD DR | 1 | LS | \$11,096.00 | \$11,096.00 | \$20,000.00 | \$20,000.00 | \$12,000.00 | \$12,000.00 | \$16,800.00 | \$16,800.00 | \$15,000.00 | \$15,000.00 | \$10,000.00 | \$10,000.00 | \$18,000.00 | \$18,000.00 |
| CONNECTIONS TO EXIST. 16" RCCP WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | | | | | | | | | | |
| 14 APPURTENANCES AT SHAHAN DR | 1 | LS | \$2,955.00 | \$2,955.00 | \$4,500.00 | \$4,500.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$6,400.00 | \$6,400.00 | \$6,500.00 | \$6,500.00 |
| CONNECTIONS TO EXIST. 8" A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | | | | | | | | | | |
| 13 APPURTENANCES AT BROOKHOLLOW DR | 1 | LS | \$2,233.00 | \$2,233.00 | \$4,500.00 | \$4,500.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 |
| CONNECTIONS TO EXIST. 8" PVC WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | l I | | | | | | | 1 | | | | 1 | | |

| | | | | | | | | 2R Constru | ction | Jeske Cons | truction | SYB Const | ruction | S-Co Incorp | | Excel 4 Cons | struction, |
|------|--|-------|---------|-------------|---------------|---------------|--------------|-------------|--------------|-------------|--------------|-------------|--------------|-------------|--------------|--------------|--------------|
| Su | nbeck Cir: Josey Ln to Josey Ln | (I-c) | | J & L Con | struction LLC | Aushill Const | ruction, LLC | Services | | Company | | Company, I | nc | | | LLC | |
| Iten | Description | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| | PAVEMENT & CONSTRUCT 12" THICK CEMENT TREATED BASE WITH 4" THICK TYPE D | | | | | | | I | | | | I | | 1 | | | |
| 1 | HMAC PER DETAILS | 1,160 | SY | \$90.40 | \$104,864.00 | \$140.00 | \$162,400.00 | \$101.20 | \$117,392.00 | \$172.00 | \$199,520.00 | \$200.00 | \$232,000.00 | \$277.00 | \$321,320.00 | \$231.00 | \$267,960.00 |
| 2 | CONSTRUCT TEMPORARY 4" TYPE D ASPHALT PAVING ACROSS JOSEY LN AS NEEDED | 80 | SY | \$108.59 | \$8,687.20 | \$50.00 | \$4,000.00 | \$45.00 | \$3,600.00 | \$35.00 | \$2,800.00 | \$48.00 | \$3,840.00 | \$67.00 | \$5,360.00 | \$81.00 | \$6,480.00 |
| 3 | ADDITIONAL 4" THICK TYPE D HMAC PER DETAILS AS NEEDED | 200 | SY | \$88.52 | \$17,704.00 | \$50.00 | \$10,000.00 | \$55.50 | \$11,100.00 | \$90.00 | \$18,000.00 | \$60.00 | \$12,000.00 | \$93.00 | \$18,600.00 | \$94.00 | \$18,800.00 |
| | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. FULL DEPTH ASPHALT PAVEMENT & | | | | | | | | | | | | | | | | |
| | REPLACE WITH 12" THICK CEMENT TREATED BASE WITH 4" THICK TYPE D HMAC, FOR | | | | | | | | | | | | | | | | |
| 4 | SERVICE LINES, IF USED | 30 | SY | \$161.20 | \$4,836.00 | \$140.00 | \$4,200.00 | \$102.00 | \$3,060.00 | \$200.00 | \$6,000.00 | \$200.00 | \$6,000.00 | \$277.00 | \$8,310.00 | \$231.00 | \$6,930.00 |
| | FUNISH & INSTALL 8" C-900 WATER LINE BY OPEN CUT, INCLUDING WATER MAIN | | | | | | | | | | | | | | | | |
| | LOWERING (IF ANY), CONNECTIONS, PLUGS, BENDS, ALL OTHER FITTINGS, EMBEDMENT, | | | | | | | | | | | | | | | | |
| 5 | BACKFILL, & ALL OTHER APPURTENANCES | 2,090 | LF | \$105.37 | \$220,223.30 | \$90.00 | \$188,100.00 | \$103.30 | \$215,897.00 | \$96.00 | \$200,640.00 | \$118.00 | \$246,620.00 | \$90.00 | \$188,100.00 | \$105.00 | \$219,450.00 |
| 6 | ABANDON EXISTING 6"-8" VALVES | 4 | EA | \$699.50 | \$2,798.00 | \$750.00 | \$3,000.00 | \$400.00 | \$1,600.00 | | \$1,560.00 | \$750.00 | \$3,000.00 | \$645.00 | \$2,580.00 | \$900.00 | \$3,600.00 |
| 7 | CUT & PLUG EXIST. WATER LINE | 3 | EA | \$1,346.00 | \$4,038.00 | \$2,000.00 | \$6,000.00 | \$1,350.00 | \$4,050.00 | \$390.00 | \$1,170.00 | \$1,000.00 | \$3,000.00 | \$700.00 | \$2,100.00 | \$3,600.00 | \$10,800.00 |
| | ALL CONNECTIONS TO EXIST. 8" PVC & 8" A.C. WATER MAIN INCLUDING ALL FITTINGS & ALL | | | | | | | | | | | | | | | | |
| 8 | OTHER APPURTENANCES AT JOSEY LN | 2 | LS | \$2,299.50 | \$4,599.00 | \$4,500.00 | \$9,000.00 | \$3,650.00 | \$7,300.00 | \$2,240.00 | \$4,480.00 | \$4,225.00 | \$8,450.00 | \$6,400.00 | \$12,800.00 | \$6,500.00 | \$13,000.00 |
| | CONNECTIONS TO EXIST. 8" PVC WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | | | | | | | | | | |
| 9 | APPURTENANCES AT SUNBURST LN | 1 | LS | \$4,399.00 | \$4,399.00 | \$4,000.00 | \$4,000.00 | \$3,650.00 | \$3,650.00 | | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 |
| 10 | FURNISH & INSTALL 8" GATE VALVE | 10 | EA | \$2,588.90 | \$25,889.00 | \$2,500.00 | \$25,000.00 | \$2,800.00 | \$28,000.00 | \$3,480.00 | \$34,800.00 | \$3,000.00 | \$30,000.00 | \$4,519.00 | \$45,190.00 | \$3,200.00 | \$32,000.00 |
| 11 | FURNISH & INSTALL 6" GATE VALVE | 4 | EA | \$2,521.00 | \$10,084.00 | \$1,800.00 | \$7,200.00 | \$1,911.00 | \$7,644.00 | \$2,360.00 | \$9,440.00 | \$2,000.00 | \$8,000.00 | \$3,336.00 | \$13,344.00 | \$2,400.00 | \$9,600.00 |
| | FURNISH & INSTALL NEW FIRE HYDRANT INCLUDING 6" FIRE HYDRANT LEADS, | | | | | | | | | | | | | | | | |
| 12 | ONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, & ALL OTHER APPURTENANCES | 4 | EA | \$7,126.75 | \$28,507.00 | \$6,500.00 | \$26,000.00 | \$5,305.00 | \$21,220.00 | \$9,520.00 | \$38,080.00 | \$8,750.00 | \$35,000.00 | \$8,850.00 | \$35,400.00 | \$9,100.00 | \$36,400.00 |
| | BOX (INCLUDING NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 3/4" OR 1" | | | | | | | | | | | | | | | | |
| | AMI METER | 4 | EA | \$2,621.75 | \$10,487.00 | \$2,250.00 | \$9,000.00 | \$2,300.00 | \$9,200.00 | | \$6,520.00 | \$2,450.00 | \$9,800.00 | \$3,000.00 | \$12,000.00 | \$1,950.00 | \$7,800.00 |
| 14 | PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (SHORT), IF ELECTED | 4 | EA | \$669.25 | \$2,677.00 | \$400.00 | \$1,600.00 | \$1,000.00 | \$4,000.00 | \$230.00 | \$920.00 | \$1.00 | \$4.00 | \$675.00 | \$2,700.00 | \$450.00 | \$1,800.00 |
| | BOX (INCLUDING NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 3/4" OR 1" | | | | | | | 1 | | | | | | | | | |
| 15 | AMIMETER | 18 | EA | \$3,577.06 | \$64,387.08 | \$2,250.00 | \$40,500.00 | \$2,400.00 | \$43,200.00 | \$1,740.00 | \$31,320.00 | \$3,850.00 | \$69,300.00 | \$3,715.00 | \$66,870.00 | \$3,100.00 | \$55,800.00 |
| | METER BOX (INCLUDING NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 1 | | | | | | | | | | | | | | | | |
| 16 | 1/2" AMI METER | 2 | EA | \$6,143.50 | \$12,287.00 | \$5,000.00 | \$10,000.00 | \$4,250.00 | \$8,500.00 | | \$7,840.00 | \$6,000.00 | \$12,000.00 | \$5,431.00 | \$10,862.00 | \$3,400.00 | \$6,800.00 |
| | PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (LONG), IF ELECTED | 20 | 134 | \$133.85 | \$2,677.00 | \$750.00 | \$15,000.00 | \$1,500.00 | \$30,000.00 | | \$6,800.00 | \$1.00 | \$20.00 | \$1,340.00 | \$26,800.00 | \$900.00 | \$18,000.00 |
| | TRAFFIC CONCTROL PLAN & IMPLEMENTATION | 1 | LS | \$4,085.00 | \$4,085.00 | \$20,000.00 | \$20,000.00 | \$5,550.00 | \$5,550.00 | | \$5,180.00 | \$25,000.00 | \$25,000.00 | \$2,580.00 | \$2,580.00 | \$8,400.00 | \$8,400.00 |
| | TRENCH SAFETY DESIGN & IMPLEMENTATION | 2,090 | LF | \$0.88 | \$1,839.20 | \$2.00 | \$4,180.00 | \$2.50 | \$5,225.00 | | \$12,540.00 | \$1.00 | \$2,090.00 | \$1.20 | \$2,508.00 | \$1.00 | \$2,090.00 |
| | EROSION CONTROL PLAN & IMPLEMENTATION | 1 | LS | \$3,123.00 | \$3,123.00 | \$2,500.00 | \$2,500.00 | \$5,150.00 | \$5,150.00 | | \$1,650.00 | \$3,000.00 | \$3,000.00 | \$2,700.00 | \$2,700.00 | \$7,100.00 | \$7,100.00 |
| 21 | FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | 50 | SY | \$24.36 | \$1,218.00 | \$14.00 | \$700.00 | \$20.00 | \$1,000.00 | \$15.00 | \$750.00 | \$12.00 | \$600.00 | \$82.00 | \$4,100.00 | \$37.00 | \$1,850.00 |
| | PROVIDE CONSTRUCTION MATERIAL TESTING, AS APPROVED BY THE CITY ENGINEER | | | | | | | 1 | | | | | | | | | |
| 22 | (REFER TO SPECIAL CONDITIONS ITEM #49) | 1 | LS | \$5,053.00 | \$5,053.00 | \$10,000.00 | \$10,000.00 | \$10,300.00 | \$10,300.00 | \$22,200.00 | \$22,200.00 | \$14,630.00 | \$14,630.00 | \$7,900.00 | \$7,900.00 | \$12,000.00 | \$12,000.00 |
| | UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER | | | | | | | 1 | | | | | | | | | |
| 23 | (REFER TO SPECIAL CONDITIONS ITEM #48) | 1 | LS | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | <u> </u> | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$00,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 |
| | Total Amount Base-Bid for Sunbeck Cir Water Main Replacement: | | | | \$574,461.78 | | \$592,380.00 | | \$576,638.00 |) | \$644,450.00 | | \$758,579.00 | | \$828,524.00 | | \$783,060.00 |
| | | | | | | | | | | | | | _ | | | | |
| | | | | | | | 2P Constru | | Jacka Conc | A | ISVB Const | | le Co Incorn | a wata al | Excel 4 Cons | 4 | |

| | | | | | | | | 2R Construe | tion | Jeske Consti | ruction | SYB Constru | uction | S-Co Incorpo | rated | Excel 4 Const | truction, |
|------|--|-------|---------|--------------|-------------|--------------|----------------|-------------|-------|--------------|---------|-------------|--------|--------------|-------|---------------|-----------|
| Cha | apelview Dr: Westminster Dr to Veronica Rd | (1-d) | | J & L Constr | ruction LLC | Aushill Cons | struction, LLC | Services | | Company | | Company, In | C | | | LLC | |
| Item | n Description | Unit | Bid Qty | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |

| | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. CONCRETE AND/OR ASPHALT | I I | | 1 | | Г | | | | | | | | | 1 | I | |
|------|---|-----|----|-------------|---------------------|-------------|--------------|-------------|--------------------|-------------|--------------|-------------|--------------|-------------|---|-------------|--------------|
| 1 | PAVEMENT & CONSTRUCT 8" THICK REINFORCED CONCRETE PAVEMENT PER DETAILS | 85 | SY | \$152.01 | \$12,920.85 | \$140.00 | \$11,900.00 | \$161.00 | \$13,685.00 | \$190.00 | \$16,150.00 | \$150.00 | \$12,750.00 | \$181.00 | \$15,385.00 | \$188.00 | \$15,980.00 |
| | CONCRETE SIDEWALK & REPLACE 4" THICK REINFORCED CONCRETE SIDEWALK, PER | | | - | | | | | | | | | | | | | |
| 2 | DETAILS | 35 | SY | \$80.09 | \$2,803.15 | \$85.00 | \$2,975.00 | \$120.00 | \$4,200.00 | \$130.00 | \$4,550.00 | \$100.00 | \$3,500.00 | \$130.00 | \$4,550.00 | \$94.00 | \$3,290.00 |
| 3 | CONSTRUCT TEMPORARY 4" TYPE D ASPHALT PAVING ACROSS VERONICA RD AS NEEDED | 30 | SY | \$85.13 | \$2,553.90 | \$50.00 | \$1,500.00 | \$45.00 | \$1,350.00 | \$35.00 | \$1,050.00 | \$48.00 | \$1,440.00 | \$67.00 | \$2,010.00 | \$81.00 | \$2,430.00 |
| | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. FULL DEPTH ASPHALT PAVEMENT & | | | | | | | | | | | | | | | | |
| 4 | REPLACE WITH 8" THICK REINFORCED CONCRETE, FOR SERVICE LINES, IF USED | 25 | SY | \$106.56 | \$2,664.00 | \$140.00 | \$3,500.00 | \$161.00 | \$4,025.00 | \$200.00 | \$5,000.00 | \$150.00 | \$3,750.00 | \$180.00 | \$4,500.00 | \$183.00 | \$4,575.00 |
| | FURNISH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT, INCLUDING WATER MAIN LOWERING (IF ANY), CONNECTIONS, PLUGS, BENDS, ALL OTHER FITTINGS, EMBEDMENT, | | | | | | | | | | | | | | | | |
| 5 | BACKFILL, & ALL OTHER APURTENANCES | 380 | LF | \$77.37 | \$29,400.60 | \$96.00 | \$36,480.00 | \$112.00 | \$42,560.00 | \$102.00 | \$38,760.00 | \$122.00 | \$46,360.00 | \$115.00 | \$43,700.00 | \$110.00 | \$41,800.00 |
| 6 | ABANDON EXISTING 6" VALVES | 2 | EA | \$737.00 | \$1,474.00 | \$750.00 | \$1,500.00 | \$400.00 | \$800.00 | \$390.00 | \$780.00 | \$750.00 | \$1,500.00 | \$645.00 | \$1,290.00 | \$1,100.00 | \$2,200.00 |
| 7 | CUT & PLUG EXIST. WATER LINE | 2 | EA | \$916.50 | \$1,833.00 | \$1,500.00 | \$3,000.00 | \$1,300.00 | \$2,600.00 | \$500.00 | \$1,000.00 | \$1,000.00 | \$2,000.00 | \$590.00 | \$1,180.00 | \$3,600.00 | \$7,200.00 |
| | CONNECTIONS TO EXIST 8" PBC WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | | | | | | | | | | |
| 8 | APPURTENANCES AT WESTMINSTER DR | 1 | LS | \$2,415.00 | \$2,415.00 | \$3,500.00 | \$3,500.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 |
| | CONNECTIONS TO EXIST 8" C.I. WATER MAIN INCLUDING ALL FITTINGS & ALL OTHER | | | | | | | ľ | | | | | | | | | |
| ll ~ | APPURTENANCES AT VERONICA RD | 1 | LS | \$3,215.00 | \$3,215.00 | \$4,000.00 | \$4,000.00 | \$4,600.00 | \$4,600.00 | \$2,240.00 | \$2,240.00 | \$7,150.00 | \$7,150.00 | \$7,370.00 | \$7,370.00 | \$3,500.00 | \$3,500.00 |
| | FURNISH & INSTALL 6" GATE VALVE | 1 | EA | \$2,272.00 | \$2,272.00 | \$1,800.00 | \$1,800.00 | \$1,911.00 | \$1,911.00 | \$2,350.00 | \$2,350.00 | \$2,000.00 | \$2,000.00 | \$3,336.00 | \$3,336.00 | \$2,400.00 | \$2,400.00 |
| 11 | FURNISH & INSTALL 8" GATE VALVE | 2 | EA | \$4,872.00 | \$9,744.00 | \$2,500.00 | \$5,000.00 | \$2,750.00 | \$5,500.00 | \$3,480.00 | \$6,960.00 | \$3,000.00 | \$6,000.00 | \$3,377.00 | \$6,754.00 | \$3,200.00 | \$6,400.00 |
| 12 | FURNISH & INSTALL NEW FIRE HYDRANT INCLUDING 6" FIRE HYDRANT LEADS, CONNECTIONS, FITTINGS, EMBEDMENT, BACKFILL, & ALL OTHER APPURTENANCES | 1 | EA | \$9,121.00 | \$9,121.00 | \$6.500.00 | \$6,500.00 | \$5,350.00 | \$5,350.00 | \$9,520.00 | \$9,520.00 | \$7.650.00 | \$7,650.00 | \$8.140.00 | \$8,140.00 | \$9.100.00 | \$9,100.00 |
| | BOX (INCLUDING NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 3/4" AMI | | | - | | | | | , . , | | | , , | | | , | | |
| 13 | METER | 2 | EA | \$2,264.50 | \$4,529.00 | \$2,050.00 | \$4,100.00 | \$2,300.00 | \$4,600.00 | \$1,620.00 | \$3,240.00 | \$2,400.00 | \$4,800.00 | \$2,970.00 | \$5,940.00 | \$1,950.00 | \$3,900.00 |
| 14 | PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (SHORT), IF ELECTED | 2 | EA | \$1,338.50 | \$2,677.00 | \$450.00 | \$900.00 | \$1,000.00 | \$2,000.00 | \$230.00 | \$460.00 | \$1.00 | \$2.00 | \$675.00 | \$1,350.00 | \$600.00 | \$1,200.00 |
| | BOX (INCLUDING NEW SERVICES & METER BOXES), & CONNECTIONS TO EXIST 3/4" AMI | | | | | | | | . , | | | | | | . , | | . , |
| 15 | METER | 4 | EA | \$3,673.50 | \$14,694.00 | \$2,650.00 | \$10,600.00 | \$2,750.00 | \$11,000.00 | \$1,740.00 | \$6,960.00 | \$4,100.00 | \$16,400.00 | \$4,080.00 | \$16,320.00 | \$3,100.00 | \$12,400.00 |
| 16 | PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (LONG), IF ELECTED | 4 | EA | \$669.25 | \$2,677.00 | \$1,000.00 | \$4,000.00 | \$1,500.00 | \$6,000.00 | \$340.00 | \$1,360.00 | \$1.00 | \$4.00 | \$1,340.00 | \$5,360.00 | \$900.00 | \$3,600.00 |
| 17 | TRAFFIC CONCTROL PLAN & IMPLEMENTATION | 1 | LS | \$2,243.00 | \$2,243.00 | \$20,000.00 | \$20,000.00 | \$1,900.00 | \$1,900.00 | \$2,300.00 | \$2,300.00 | \$25,000.00 | \$25,000.00 | \$2,580.00 | \$2,580.00 | \$8,400.00 | \$8,400.00 |
| 18 | TRENCH SAFETY DESIGN & IMPLEMENTATION | 380 | LF | \$4.19 | \$1,592.20 | \$2.00 | \$760.00 | \$2.50 | \$950.00 | \$6.00 | \$2,280.00 | \$1.00 | \$380.00 | \$1.20 | \$456.00 | \$1.00 | \$380.00 |
| | EROSION CONTROL PLAN & IMPLEMENTATION | 1 | LS | \$1,953.00 | \$1,953.00 | \$2,500.00 | \$2,500.00 | \$1,000.00 | \$1,000.00 | \$1,650.00 | \$1,650.00 | \$3,000.00 | \$3,000.00 | \$2,700.00 | \$2,700.00 | \$7,100.00 | \$7,100.00 |
| 20 | FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | 100 | SY | \$15.03 | \$1,503.00 | \$14.00 | \$1,400.00 | \$20.00 | \$2,000.00 | \$15.00 | \$1,500.00 | \$12.00 | \$1,200.00 | \$82.00 | \$8,200.00 | \$37.00 | \$3,700.00 |
| | PROVIDE CONSTRUCTION MATERIAL TESTING, AS APPROVED BY THE CITY ENGINEER | | | | | | | | | | | | | | | | |
| 21 | (REFER TO SPECIAL CONDITIONS ITEM #49) | 1 | LS | \$4,993.00 | \$4,993.00 | \$10,000.00 | \$10,000.00 | \$1,900.00 | \$1,900.00 | \$7,000.00 | \$7,000.00 | \$2,660.00 | \$2,660.00 | \$7,900.00 | \$7,900.00 | \$12,000.00 | \$12,000.00 |
| | UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER | | | | | F | | | | | | F | | – | | | |
| 22 | (REFER TO SPECIAL CONDITIONS ITEM #48) | 1 | LS | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 | \$20,000.00 |
| | Total Amount Base-Bid for Chapelview Dr Water Main Replacement: | | | | \$137,277.70 | | \$155,915.00 | | \$141,581.00 | | \$137,350.00 | | \$171,771.00 | | \$175,421.00 | | \$177,955.00 |
| | Total Amount Dase-Did for Chapelview Dr water Main Replacement: | | | | ΦΙ3/, Ζ//./U | | a155,915.00 | | φ141,561.00 | | ə137,350.00 | | ə1/1,//1.00 | | ₽1/5,421.00 | | \$1/1,955.U |

| | | | | | | | | 2R Constru | ction | Jeske Cons | truction | SYB Constr | uction | S-Co Incorp | orated | Excel 4 Cons | truction. |
|--------|--|-------|---------|----------------|--------------|--------------|---------------|---------------------------------------|--------------|------------|--------------|-------------|----------------|-------------|--------------|--------------|--------------|
| Ree | dcroft Dr: Bay Meadows Cir to Josey Lne | (1-d) | | 1&1 Const | ruction LLC | Aushill Cons | truction, LLC | | | Company | | Company, I | | | | LLC | , |
| Item | Description | | | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. CONCRETE PAVEMENT & REINFORCED | 0 | Did Qty | | 10101 | | 10141 | | 10101 | Onici nee | 10101 | | Total | | Total | | Total |
| | CURB ALONG DITCHLINE & REPLACE WITH 8" THICK REINFORCED CONCRETE PAVEMENT. | | | | | | | | | | | | | | | | |
| | INCLUDING REINFORCED CURB | 10 | SY | \$154.20 | \$1,542.00 | \$140.00 | \$1,400.00 | \$192.00 | \$1.920.00 | \$195.00 | \$1,950.00 | \$150.00 | \$1,500.00 | \$181.00 | \$1.810.00 | \$188.00 | \$1.880.00 |
| | FULL DEPTH SAWCUT. REMOVE & DISPOSE EXIST. CONCRETE PAVEMENT & REINFORCED | - | | | • , | \$110.00 | , , | ¢102.00 | φ1,020.00 | | • • • • • • | ¢100.00 | , , | \$101.00 | \$1,010.00 | \$100.00 | \$1,000.00 |
| | CURB ALONG DITCHLINE & REPLACE WITH 6" THICK REINFORCED CONCRETE PAVEMENT, | | | | | | | | | | | | | | | | |
| 2 | INCLUDING REINFORCED CURB | 20 | SY | \$107.95 | \$2,159.00 | \$120.00 | \$2,400.00 | \$171.00 | \$3.420.00 | \$185.00 | \$3,700.00 | \$110.00 | \$2,200.00 | \$155.00 | \$3,100.00 | \$177.00 | \$3,540,00 |
| | PAVEMENT, ALONG WITH REINFORCED CURB & REPLACE WITH NEW 6" THICK | | | | | | | | (-) | | | | | , | (-) | | |
| | REINFORCED CONCRETE, INCLUDING REINFORCED CONCRETE CURB, WITH 2" THICK TYPE | | | | | | | | | | | | | | | | |
| 3 | D HMAC, PER DETAILS | 790 | SY | \$84.62 | \$66,849.80 | \$140.00 | \$110,600.00 | \$202.00 | \$159,580.00 | \$215.00 | \$169,850.00 | \$135.00 | \$106,650.00 | \$185.00 | \$146,150.00 | \$189.00 | \$149,310.00 |
| | ADDITIONAL 2" THICK TYPE D HMAC PER DETAILS, AS NEEDED | 80 | SY | \$34.93 | \$2,794.40 | \$25.00 | \$2,000.00 | \$35.00 | \$2,800.00 | \$50.00 | \$4,000.00 | \$30.00 | \$2,400.00 | \$47.00 | \$3,760.00 | \$33.00 | \$2,640.00 |
| 5 | NEEDED | 100 | SY | \$56.78 | \$5,678.00 | \$50.00 | \$5,000.00 | \$45.00 | \$4,500.00 | \$35.00 | \$3,500.00 | \$48.00 | \$4,800.00 | \$67.00 | \$6,700.00 | \$81.00 | \$8,100.00 |
| | FULL DEPTH SAWCUT, REMOVE & DISPOSE EXIST. FULL DEPTH ASPHALT PAVEMENT & | | | | | | | | | | | | | | | | |
| | REPLACE WITH 8" THICK REINFORCED CONCRETE WITH 2" THICK TYPE D HMAC, FOR | | | | | | | | | | | | | | | | |
| ll v | SERVICE LINES, IF USED | 85 | SY | \$130.08 | \$11,056.80 | \$160.00 | \$13,600.00 | \$192.00 | \$16,320.00 | \$215.00 | \$18,275.00 | \$150.00 | \$12,750.00 | \$210.00 | \$17,850.00 | \$205.00 | \$17,425.00 |
| 7 | ABANDON EXISTING 6"-8" VALVES | 7 | EA | \$554.43 | \$3,881.01 | \$750.00 | \$5,250.00 | \$400.00 | \$2,800.00 | \$390.00 | \$2,730.00 | \$750.00 | \$5,250.00 | \$645.00 | \$4,515.00 | \$1,200.00 | \$8,400.00 |
| ll ~ | CUT & PLUG EXIST. WATER LINE | 1 | EA | \$1,112.00 | \$1,112.00 | \$2,000.00 | \$2,000.00 | \$1,300.00 | \$1,300.00 | \$500.00 | \$500.00 | \$1,500.00 | \$1,500.00 | \$700.00 | \$700.00 | \$3,600.00 | \$3,600.00 |
| | FURNSH & INSTALL 8" C-900 PVC WATER LINE BY OPEN CUT, INCLUDING WATER MAIN | | | | | | | | | | | | | | | | |
| | LOWERING (IF ANY), PLUGS, CONNECTIONS, BENDS, ALL OTHER FITTINGS, EMBEDMENT, | | | | | | | | | | | | | | | | |
| ll v | BACKFILL, & ALL OTHER APPURTENANCES | 1,595 | LF | \$87.32 | \$139,275.40 | \$90.00 | \$143,550.00 | \$102.80 | \$163,966.00 | \$96.00 | \$153,120.00 | \$118.00 | \$188,210.00 | \$92.00 | \$146,740.00 | \$103.00 | \$164,285.00 |
| | CONNECTION TO EXIST 8" PVC WATER MAINS INCLUDING ALL FITTINGS, & ALL OTHER | | | | | | | | | | | | | | | | |
| | APPURTENANCES AT BAY MEADOWS CIR | 1 | LS | \$2,594.00 | \$2,594.00 | \$4,500.00 | \$4,500.00 | \$3,650.00 | \$3,650.00 | \$2,240.00 | \$2,240.00 | \$4,225.00 | \$4,225.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 | \$6,400.00 |
| | CONNECTION TO EXIST. 12" PVC WATER MAIN INCLUDING ALL FITTINGS, & ALL OTHER | | | | | | | | | | | | | | | | |
| | APPURTENACES AT JOSEY LN | 1 | LS | \$5,094.00 | \$5,094.00 | \$5,500.00 | \$5,500.00 | , | \$8,050.00 | \$2,240.00 | \$2,240.00 | \$15,000.00 | \$15,000.00 | \$12,500.00 | \$12,500.00 | \$7,400.00 | \$7,400.00 |
| | FURNISH & INSTALL 8" GATE VALVE INCLUDING ALL APPURTENANCES | 5 | EA | \$3,498.20 | \$17,491.00 | \$2,500.00 | \$12,500.00 | \$2,800.00 | \$14,000.00 | \$3,480.00 | \$17,400.00 | \$3,000.00 | \$15,000.00 | \$4,500.00 | \$22,500.00 | \$3,200.00 | \$16,000.00 |
| 13 | FURNISH & INSTALL 6" GATE VALVE INCLUDING ALL APPURTENANCES | 6 | EA | \$2,782.33 | \$16,693.98 | \$1,800.00 | \$10,800.00 | \$1,911.00 | \$11,466.00 | \$2,360.00 | \$14,160.00 | \$2,000.00 | \$12,000.00 | \$3,336.00 | \$20,016.00 | \$2,400.00 | \$14,400.00 |
| | FURNISH & INSTALL NEW FIRE HYDRANT INCLUDING 6" PVC FH LEADS, CONNECTIONS, | | | | | | | | | | | | | | | | |
| | FITTINGS, EMBEDMENT, BACKFILL, & ALL OTHER APPURTENANCES | 5 | EA | \$6,501.40 | \$32,507.00 | \$6,500.00 | \$32,500.00 | \$5,400.00 | \$27,000.00 | \$9,520.00 | \$47,600.00 | \$7,800.00 | \$39,000.00 | \$8,800.00 | \$44,000.00 | \$9,100.00 | \$45,500.00 |
| | FURNISH & INSTALL 1" TYPE "K" COPPER WATER SERVICE (LONG) & NEW WATER METER | | | | | Γ | | l í | | | | | | Ι Γ | | | |
| | BOX, INCLUDING CONNECTION TO EXIST 3/4" OR 1" AMI METER | 15 | EA | \$3,090.27 | \$46,354.05 | \$2,500.00 | \$37,500.00 | \$2,400.00 | \$36,000.00 | \$1,740.00 | \$26,100.00 | \$3,850.00 | \$57,750.00 | \$1,484.00 | \$22,260.00 | \$3,100.00 | \$46,500.00 |
| | FUNISH & INSTALL 2" TYPE "K" COPPER WATER SERVICE (LONG) & NEW WATER METER | | | * ***** | <u> </u> | I I I | *** | | | | AF 0/2 22 | | * ••••• | | | | |
| II · • | | | EA | \$6,696.00 | \$6,696.00 | \$6,500.00 | \$6,500.00 | , , , , , , , , , , , , , , , , , , , | \$6,250.00 | \$5,040.00 | \$5,040.00 | \$8,000.00 | \$8,000.00 | <i>.</i> , | \$7,123.00 | \$6,300.00 | \$6,300.00 |
| | | 16 | EA | \$167.31 | \$2,676.96 | \$850.00 | \$13,600.00 | \$1,900.00 | \$30,400.00 | \$340.00 | \$5,440.00 | \$1.00 | \$16.00 | \$1,340.00 | \$21,440.00 | \$900.00 | \$14,400.00 |
| | FURNISH & INSTALL 1" TYPE "K" COPPER WATER SERVICE (SHORT) & NEW WATER METER | | | A0 550 74 | A 47 000 07 | ΙΓ | | I [| | | | ΙΓ | A 17 565 55 | I [| | | |
| 18 | BOX, INCLUDING CONNECTIONS TO EXIST 3/4" OR 1" AMI METER | 7 | EA | \$2,556.71 | \$17,896.97 | \$2,250.00 | \$15,750.00 | \$2,300.00 | \$16,100.00 | \$1,630.00 | \$11,410.00 | \$2,500.00 | \$17,500.00 | \$3,072.00 | \$21,504.00 | \$1,950.00 | \$13,650.00 |

| | FUNISH & INSTALL 2" TYPE "K" COPPER WATER SERVICE (SHORT) & NEW WATER METER | | | | | | | Í | | | | | | ſ | | | |
|---------|---|-------|----|----------------|--------------|----------------|--------------|----------------|--------------|----------------|--------------|----------------|--------------|----------------|--------------|----------------|--------------|
| 19 | BOX, INCLUDING CONNECTION TO EXIST 2" AMI METER | 1 | EA | \$5,094.00 | \$5,094.00 | \$7,000.00 | \$7,000.00 | \$5,150.00 | \$5,150.00 | \$4,480.00 | \$4,480.00 | \$4,600.00 | \$4,600.00 | \$540.00 | \$540.00 | \$4,600.00 | \$4,600.00 |
| 20 | STATION | 1 | EA | \$2,594.00 | \$2,594.00 | \$2,250.00 | \$2,250.00 | \$3,100.00 | \$3,100.00 | \$1,624.00 | \$1,624.00 | \$3,150.00 | \$3,150.00 | \$3,000.00 | \$3,000.00 | \$1,950.00 | \$1,950.00 |
| 21 | PROVIDE DIRECTIONAL BORE FOR SERVICE LINES (SHORT), IF ELECTED | 9 | EA | \$297.44 | \$2,676.96 | \$450.00 | \$4,050.00 | \$1,000.00 | \$9,000.00 | \$230.00 | \$2,070.00 | \$1.00 | \$9.00 | \$675.00 | \$6,075.00 | \$650.00 | \$5,850.00 |
| 18 | TRAFFIC CONCTROL PLAN & IMPLEMENTATION | 1 | LS | \$3,183.00 | \$3,183.00 | \$20,000.00 | \$20,000.00 | \$5,550.00 | \$5,550.00 | \$4,380.00 | \$4,380.00 | \$25,000.00 | \$25,000.00 | \$2,580.00 | \$2,580.00 | \$8,400.00 | \$8,400.00 |
| 1 · · · | TRENCH SAFETY DESIGN & IMPLEMENTATION | 1,595 | LF | \$0.58 | \$925.10 | \$2.00 | \$3,190.00 | \$2.50 | \$3,987.50 | \$6.00 | \$9,570.00 | \$1.00 | \$1,595.00 | \$1.20 | \$1,914.00 | \$1.00 | \$1,595.00 |
| | EROSION CONTROL PLAN & IMPLEMENTATION | 1 | LS | \$4,833.00 | \$4,833.00 | \$2,500.00 | \$2,500.00 | \$3,950.00 | \$3,950.00 | \$1,650.00 | \$1,650.00 | \$3,000.00 | \$3,000.00 | \$2,700.00 | \$2,700.00 | \$7,100.00 | \$7,100.00 |
| 21 | FURNISH & INSTALL SOLID SOD INCLUDING 2" TOP SOIL | 50 | SY | \$23.76 | \$1,188.00 | \$14.00 | \$700.00 | \$20.00 | \$1,000.00 | \$15.00 | \$750.00 | \$12.00 | \$600.00 | \$82.00 | \$4,100.00 | \$37.00 | \$1,850.00 |
| | PROVIDE CONSTRUCTION MATERIAL TESTING, AS APPROVED BY THE CITY ENGINEER | | | | | | | | | | | | | | | | |
| 22 | (REFER TO SPECIAL CONDITIONS ITEM #49) | 1 | LS | \$16,304.00 | \$16,304.00 | \$10,000.00 | \$10,000.00 | \$7,850.00 | \$7,850.00 | \$17,800.00 | \$17,800.00 | \$11,165.00 | \$11,165.00 | \$7,900.00 | \$7,900.00 | \$12,000.00 | \$12,000.00 |
| | UNFORSEEN ITEMS FOR WATER REPLACEMENT, AS APPROVED BY THE CITY ENGINEER | | | | | | | | | | | | | | - | | |
| 23 | (REFER TO SPECIAL CONDITIONS ITEM #48) | 1 | LS | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 |
| | Total Amount Base-Bid for Reedcroft Water Main Replacement: | | | | \$449,150.43 | | \$504,640.00 | | \$579,109.50 | | \$561,579.00 | | \$572,870.00 | | \$567,877.00 | | \$603,075.00 |
| | | | | | | | | | | | | | | | | | |
| | Total Amount Base-Bid for 2025 Water Main Replacement: | | | \$3,218,551.50 | | \$3,345,510.00 | | \$3,481,125.00 | | \$3,628,959.00 | | \$3,795,803.00 | | \$3,953,998.00 | | \$4,014,530.00 | |